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UGC NET PAPER 2 DECEMBER 3, 2021 SHIFT 2 SOCIAL MEDICINE AND COMMUNITY HEALTH QUESTION PAPER

Topic:- SMCH_SHAAN_NOVZ1A

1) "Increasing sale of anti-asthamatics during the winter season is associated with increasing incidence of exacerbation of
asthma”

Which criteria of association is fullfilled by the above statement?

"oficrepTer 3t canfaielt canail &t Rast 3 gy o1 FHder <o agor & Al 3 Sor arcll gfiy 3 3 7 UKD ae A Tt ©f Diol- Al ATUGS Hese
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[Question ID = 609][Question Description = $2_qSNz_PG_SMC_Q01]
1. Temporal association/mfRrer gt [Option 1D = 2433

2. Biological plausibility /Siftmr Rrassitern [Option 1D = 2434]

3. Consistency of association/arser o5t Fewan [Option ID = 2435]

4. Coherence of association/zremel 45t Jimarwn [Option ID = 2436]

Correct Answer ;-
® Temporal association/zaftrr mmsrt [Option 1D = 2433)

2) Health awareness survey was planned in a community with a sample size of 10% of the town population.
The list of households from each subgroup was prepared, 10% of households from each sub group was selected.

Name the above mentioned sampling method.

AR H T3 SIRTEDAI AL SI01 HI Abston aars a1 forat yiercel arns - orez &Y sroriz=n o1 10 % o0 &3 3usme 3 3 10 % uf¥as! o
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[Question ID = 610][Question Description = $2_qSNz_PG_SMC_Q02]
1. Simple randem sampling/ s mefRer [Option ID = 2437]

2. Systematic random sampling/=reaer aefeer [Option ID = 2438]

3. Stratified random sampling /=i aeftar [Option 1D = 2439]

4, Cluster sampling /== gitest spm [Option 1D = 2440]

Correct Answer :-
& Simple random sampling/ @z awefae [Option 1D = 2437]

3) An investigator wanted to estimate the mean Hb level in antenatal mothers in a tribal area. A previous study reported
mean Hb as 10 gm%, 5D 2 gm%. The expected difference between population and sample mean is considered to be 1 gm%.

The nearest approximate sample size would be

U odud slerakile Sl 3 grayd Al d aeda Hb 3z o1 sareos wear aiear 2 Riwe aresrret 3 smea Hb 10 gm % 2fiz SD 2 a1 % uren
IR o SToldzoa A iz gfogef mewr & dia genfdng siaz 1 gm % Jron sem 2

foraeeat Afserde Yficol s gk
[Question ID = 611][Question Description = $2_qSNz_PG_SMC_Q03]
1. 200
[Option 1D = 2441]
2. 300
[Option ID = 2442)
3. 400
[Option 1D = 2443]
4, 300

[Option ID = 2444)]
Correct Answer :-
a 200

[Option ID = 2441]

4) Ecological study is also known as:

aifyfeferas stenrrer @I 3y foa siearrer @ o\ 3 Ser Sar s 7
[Question ID = 612][Question Description = $2_qSNz_PG_SMC_Q04]
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Prevalance study/=iagsar aregar [Option [D = 2445]
Correlational study /sl = [Option 1D = 2446]

Case reference study/dswa zioel srem=rar [Option D = 2447

Followup study/seEmit ss=m [Option 1D = 2448]

oW

Correct Answer :-
* Prevalance study/=mwsar swerrer [Option (D = 2445]

5) Which one of the following variables is classified as dichotomous?

fBrraterd¥ 3 A wier - ar gz Bpish & sa & golfga e sr 3 7

[Question ID = 613][Question Description = S2_qSNz_PG_SMC_Q05]
1. Age/far [Option 1D = 2449]

2. Sex/fer [Option 1D = 2450]

3. Height/ear [Option D = 2451]

4. Weight/aam= [Option ID = 2452]

Carrect Answer :-
® Age/am [Option 1D = 2449]

6) Which one of the following information is required in calculating the Secondary Attack Rate?

Tl ger &3 Ot swen weer @& e Geefiliaa 3 3 oie -3 snorerdt & smasaoar aiedt 8 7

[Question ID = 614][Question Description = $2_qSNz_PG_SMC_Q06]
1. Minimum Incubation period/ =g sgaa @m [Option 1D = 2453]

2. Maximum Incubation period/ sifrmem sgua wwt [Option D = 2454]

3. Median Incubation period/mnfimm sgas me [Option 1D = 2455]

4. Mean Incubation period/ames s wm [Option 1D = 2456]

Correct Answer ;-
o Minimum Incubation period/sEre g wm [Option 1D = 2453]

7) Apperance of Herpes zoster in a person who was earlier infected with Varicella zoster (V2) virus, is which one of the
following types of infection?

asct A dhAen sieey (V) Rawy J dafha safts & sdia siiver w1 gave Slan feaftiRaa 3 A Roa gorz @1 siageer 3 7

[Question ID = 615][Question Description = $2_qSNz_PG_SMC_Q07]
1. Subclinical Infection/swieisms wpam [Option ID = 2457)

2. Re Infection/gerzmmmm [Option 1D = 2458]

3. Latent infection/spr siemr [Option (D = 2459]

4, Clinical Infection/di=miens o [Option 1D = 2460]

Correct Answer :-
a Subclinical Infection/soederions Jagam [Option 1D = 2457]

8) In which one of the following vaccines, an inactivated or killed agent is used for active immunization?

fBrraferf¥an 3 A fvw & & afdya gffrsiiorer © R Biftag fve sto @ o stlirrat o gaier R s 8 7
[Question ID = 616][Question Description = $2_qSNz_PG_SMC_Q08]

BLG /41 =i Sit [Option ID = 2461]
Diptheria/af2oft 2@ (s1mdic) [Option (D = 2462

Measles/zrmr [Option (D = 2463]

Pertussis/gge=iiEit (ud?m) [Option (D = 2464]

oW

Correct Answer :-
e BCG/dft 3 5&t [Option ID = 2461]

9) Which one of the following is a causative agent of the transmission of Yaws?

rraifef¥ana 3 A wior disr @ gz @ wivwer sfewal § :

[Question ID = 617][Question Description = $2_qSNz_PG_SMC_Q09]
1. Treponema pallidum/Shstar &Eem [Option (D = 2465]

2. Treponema carateumn/mstzn difem [Option 1D = 2466]

3. Treponema pertenue /it oieg [Option 1D = 2467

4. Hoemophilus ducreyi /2aiers 3 {Option 1D = 2468]

Correct Answer ;-

s Treponema pallidum/deian OftiEem [Qption (D = 2465]
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10) The method for identifying a missing case and thereby supplementing the notified cases is known as

TN AT Tt usana @eel @bt fif?r sz 3w waer A afrifm s o Jigha awen 551 Hu 3 sier s 8

[Question ID = 618][Question Description = 52_gSNz_PG_SMC_Q10]
1. Active surveillance/wEr Bemeh [Option 1D = 2469]

2. Sentinel surveillance/yzdt (dfwm) femml [Option ID = 2470]

3. Notification/ sffrmemn [Option 1D = 2471]

4, Lay reporting/=mmem ¥ San (Gidf@) [Option ID = 2472]

Correct Answer :-
e Active surveillance /axitn Benet [Option 1D = 2469)

11) Vaccination against which disease is required under International Health Regulations?

Jericdla Farred faforme @ aivsia fiear diardt @ sice! 31 o smagas 2

[Question ID = 619][Question Description = $2_gSNz_PG_SMC_Q11]
1. Tuberculosis/araer [Qption |D = 2473]

2. Yellow fever/di =3z [Option 1D = 2474]

3. Poliomyelitis/diferst [Option (D = 2475]

4. Measles/=r=x [Option D = 2476]

Correct Answer :-
& Tuberculosis/srmEsr [Option (D = 2473]

12) How many Sustainable Development Goals are there in the 2030 Agenda?
2030 wsizr 4 fovae waa facerar aseil ®I 751 sri 87

[Question ID = 620][Question Description = $2_gSNz_PG_SMC_Q12]
1. 8

[Option ID = 2477]
2. 17

[Option ID = 2478]
3. 20

[Option ID = 2479]
4, 30

[Option 1D = 2480]
Carrect Answer :-
s 8

[Option ID = 2477]

13) Which of the following statements are true with respect to Health Education?
A. Makes people think for themselves

B. Appeals to reason

C. Appeals to emotion

D. Aims at impulsive action

Choose the correct answer from the options given below:

Farred oren @ ai 3 e oot 8 -

A, ciiell @ 7 @ e drrel #q Yiet oo

B, aa ®ral @& Aol el

C. Mgl @ ey 31318 B3oll

D. amafdra oriadl o 3gea gleln

iy o are fomsedl 3 31 =dl vz 9 ¢

[Question ID = 621][Question Description = $2_qS5Nz_PG_SMC_Q13]

A and B only/@am A& B [Option ID = 2481]

B and C only/@9e B iz C [Option 1D = 2482]
C and D only/@w@r C gz D [Option D = 2483]
A and D only/axwT A itz D [Option 1D = 2484)

e it R

Correct Answer :-
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# A and B only/dae A #s B [Option 1D = 2481]

14) Which one of the following facilities has a blood storage unit?

ferraifeifiaa 3 A Ko Afaen 9 o sisrvI soE Skl 3 7

[Question ID = 622][Question Description = $2_qSNz_PG_SMC_Q14]

1. Subcentrefsudig [Option ID = 2485]
2. Primary Health Centre/urifrs wames aig [Option 1D = 2486]

3. 24/7 Primary Health Centre/24/ 7 wrefirr Famea oig [Option 1D = 2487)

4. First Referral Unit/mem wemst o [Option ID = 2488]

Correct Answer ;-
e Subcentre/zmiig [Option ID = 2485]

15) Which one of the following indices does NOT take into account height for assessment of obesity?

forraifertianT 3f 2t @iol - AT Yadics A & AHclol A dars &l 3ITen o1él & 2 7

[Question ID = 623][Question Description = S2_gSNz_PG_SMC_Q15]
1. Body Mass Index/ vz goome Joepies (aliEh 3ifa 23w=1) [Option (D = 2489]

2. Ponderal Index/ s smesias [Option ID = 2490]

3. Cerpulence Index/aems Freic [Option 1D = 2491]

4. Lorentz Formula/&t=a 37 [Option 1D = 2492]

Correct Answer :-
® Body Mass Index/gmiz geewmel Fmsies (st atfar $3«a1) [Option (D = 2489]

16) Which one of the following historically gave first link of exposure with occupational cancer?

foramteifian & A fow arsiitfaeeT aw Sz Yanfaa ga & uscl &3t g &f ?
[Question ID = 624][Question Description = S2_gSNz_PG_SMC_Q16]

Skin Cancer/mmn oz [Option ID = 2493]
Lung Cancer/wws mr #az [Option 1D = 2494

Blood Cancer/ =% @5z [Option ID = 24%6]

Scrotal Cancer/gsom (wmimn) @ [Option 1D = 2495]

P bl D —

Correct Answer :-
e Skin Cancer /e @iz [Option 1D = 2493)

17) Which one of the following is the best strategy for prevention and control of Tuberculosis in the community?

A # SRRPT @ IRpend sz foriqu @ fom forsafalian d ol i v wxfas oEifr 2 7

[Question ID = 625][Question Description = $2_q5Nz_PG_SMC_Q17]
1. Isolation of case /36l =1 arcer Foer [Option 1D = 2497

2. Diagnosis and Treatment of case /3= o fem otz suenz [Option 1D = 2498]

3. BCG Vaccination/fdt it sit &msmran [Option 1D = 2499]

4. Chemoprophylaxis/zamem 3= Brvme (Seinirakem) [Option 1D = 2500]

Correct Answer :-

e [solation of case/JEt @ sem zomen [Option 1D = 2497

18) In which one of the following infectious diseases rash is pleomorphic?

forgmteilian A 21 ©ia 2t v FigEe et awm fiadl - amliies (Reribinibs) & ?
[Question ID = 626][Question Description = $2_qSNz_PG_SMC_Q18]

Chicken pox/=&EmT [Option ID = 2501]
Small pox/dems [Option ID = 2502]

teasles fxra [Option (D = 2503]

Rubella/=izn [Option 1D = 2504]

e it BRI

Correct Answer :-
& Chicken pox/srismen [Option 1D = 2501]

19) When optimum radiographic techniques are employed, the skin dose from a single x-ray film varies, approximately,

ol Foead 30 spihes Awelicl @I YHisl R airar 8, Al o ua $ fbea 3 camn @1 ficwe arclt sy oene foer afee # ekd 8 ?
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[Question ID = 627][Question Description = S2_qSNz_PG_SMC_Q19]
1. 0.08 to 5.0 rad/0.08 & 5.0 %5 [Option ID = 2505]
2, 0.01 to 2.0 rad/0.01 3 2.0 3= [Option ID = 2506]
3. 0.02 to 3.0 rad/0.02 & 3.0 3= [Option ID = 2507]
4, 0.05 to 6,0 rad/0.05 & 6.0 35 [Option ID = 2508]

Correct Answer :-
a (.08 to 5.0 rad/0.08 3 5.0 3= [Option |D = 2505]

20) The high temperature Kata thermometer can be distinguished by coloured alcohol.

o Araarer arell wier araard) wi Jo1 & Vorplsa 3 Oslell S Al §

[Question ID = 628][Question Description = $2_qSNz_PG_SMC_Q20]
1. Red/tmT

[Option ID = 2509]
2. Blue/dien

[Option ID = 2510]
3. Magenta/#sim

[Optien ID = 2511]
4. Green/fza

[Option ID = 2512]

Correct Answer :-
e Red/omT

[Option ID = 2509]

21) The minimum recommended distance of cattle sheds from dwelling houses in rural area is:

yraftor &y 3 forarer zerrait A weremensil B sy MoreiBa g ¥ .

[Question ID = 629][Question Description = S2_qSNz_PG_SMC_Q21]
1. 20 feet/20 Fie [Option 1D = 2513]
2. 25 feet/25 G [Option D = 2514]
3. 30 feet/30 G [Option D = 2515]
4, 35 feet/35 & [Option 1D = 2516]

Correct Answer :-
a 2() feet/20 G [Option ID = 2513]

22) Which of the following arthropods is responsible for transmission of Rickettsialpox?

forgmteian A 21 Blar - it Poiaa dicswr o gz @ R saserl 2iir & 7

[Question ID = 630][Question Description = $2_qSNz_PG_SMC_Q22]
1. Reduviid bug/3sfirs @ [Option ID = 2517]

2. Louse/sf [Option D = 2518]

3. Trombiculid Mite/@ifFargiers gt (amse) [Option ID = 2519]

4, Rat flea/gz fizg [Option 10 = 2520]

Correct Answer :-
# Reduviid bug/3sis &ie [Option 1D = 2517]

23) Which of the following conditions correctly describe the declining stage of the demographic cycle?

Sletifepdbier oy @1 Bl 2 sraven 1 loreaifafiae I 2t oo I gon 51t ot A avfar ol 8 7

[Question ID = 631][Question Description = 52_qSNz_PG_SMC_Q23]

1. Death Rate is decreasing while Birth Rate remains unchanged/#cy &3 g =t £ Smfés oo &3 amfyaffa 2 [Option ID = 2521]

2. Birth Rate is decreasing while Death Rate remains unchanged/aws o3 oz %2 & srlics #oges anfyafda & [Option ID = 2522]

3. Both Birth Rate and Death Rate are decreasing and Death Rate is lower than the Birth Rate/deil sion o3 iz vy 57 o 76 & 4z 7oy o2, oion o3 DY Adar
T g [Option ID = 2523]

4. Both Birth Rate and Death Rate are decreasing and Birth Rate is lower than the Death Rate/Smt sonee sfiz Irge= ae 7 2 sfiz Sion 52 & aen o &
[Option 1D = 2524]

Correct Answer :-

¢ Death Rate is decreasing while Birth Rate remains unchanged/#rg g2 me =t & wafir 302 g2 smi¥kfa & [Option ID = 2521]

24) The number of minimum antenatal visits recommended by the World Health Organization (WHO}) is:

fara sarzea de1oat (Soce v 3ll) g wdplaid Tbae! ar gua yd Rifdsrars @ ura st 6 wiens & seft 37
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[Question ID = 632][Question Description = S2_qSNz_PG_SMC_Q24]
14

[Option ID = 2525]
2. 6

[Option ID = 2526]
3 8

[Option ID = 2527]
4. 10

[Option ID = 2528]

Correct Answer :-
e 4

[Option ID = 2525]

25) In copper T 380, 380 indicates:
wiaz & 380 3, 380 Rvamy ddaw § .

[Question ID = 633][Question Description = S2_qSNz_PG_SMC_Q25]

1. Weight of the copper/w& @ T=m [Option D = 2529]

2. Length of the copper wire/m=l @ rmz 5 v [Option 1D = 2530]

3. Surface area of the copper wire/aR @ re wt ks & [Option ID = 2531]

4, Cross sectional area of the copper wire/dail o e w1 yfftearerr dig [Option 1D = 2532)
Correct Answer :-

» Weight of the copper/ail @1 gemr [Option [D = 2529]

26) The best indicator reflecting chronic malnutrition is:

Zlfepifcrs mUIaul @ gotfol & wlf Fald BT & ¢

[Question ID = 634][Question Description = $2_qSNz_PG_SMC_Q26]
Weight for Height/omE & ageme gs [Option 1D = 2533]

Weight for Age/ g o srgeme oerer [Option [D = 2534]

Height for Age/amg @ ameme aar [Option ID = 2535]

Mid-arm circumference/dis @ s @t ai3fir [Option ID = 2536]

N VY R S

Correct Answer :-
e Weight for Height /= @ ampeme aem [Option ID = 2533]

27) The APGAR Score of a newborn baby with blue extremities, pink body, slow irregular respiration, active movement of
extremities, 95 heart rate and grimace reflex response is;

ST SfieY a1er Oita Uzoe] ortlz spendl, ofta, aforafda a1 &rer - dia - adrpEie g & Fifd 95 i 3 sita (R fardaerst) @ d 5w sass
frgg w1 w di it ¢ ane yraier s

[Question ID = 635][Question Description = $2_qSNz_PG_SMC_Q27]
1. 4

[Option ID = 2537]
LoD

[Option ID = 2538]
3. 6

[Option ID = 2539]
4, 7

[Option ID = 2540]
Correct Answer ;-
e 4

[Option ID = 2537]

28) An XYZ village has a population of 10,000, with birth rate of 40 per 1000 populaticn in a year 1995. There were 2
maternal deaths in the same year in the village. Calculate the maternal mortality ratio (per 1 lakh live birth) of this village.

10,000 @bt armardt arct et slia 3 srel @1 s o7 ad 1995 & 40 gfier aone sz & a6l 2 Skl @ grg 38 79 AER U2 $49 31 S©1 Shoioil
g Agurd (YfeT o o 1919] siod & agquna #) forrariifaa 3 3 o= Zen?

[Question ID = 636][Question Description = $2_qSNz_PG_SMC_Q28]
1. 100

[Option ID = 2541]
2. 300

[Option ID = 2542]
3. 500
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[Option ID = 2543]
4, 700

[Option ID = 2544]

Correct Answer -
s 100
[Option ID = 2541]
29) Two consecutive survey teams studied quality of life of a population at an interval of one month, using same tool.
Results were observed to be similar, It can be interpreted that indicator used is

S AT LT oll A ow & Iaarior gRIET Rl ¢ oo Aflel O e a3 el Storivwan @ Shtaer O soraen w1 deerar fvar ggron &
Ul HATE UG 318 333 arus [ | Aol & kb YRh ddad 8 |

[Question ID = 637][Question Description = $2_qSNz_PG_SMC_Q29]
1. Valid/de [Option ID = 2545]

2. Reliable/frazmtr [Option (D = 2546]

3. Sensitive/=dgw [Option ID = 2547]

4. Specific/Rigme [Option 1D = 2548]

Correct Answer ;-

e Valid/de [Option 1D = 2545]

30) The first Indian state to introduce Panchayati Raj is

Uiz saasal ol 9IEAIT @30l arell Gl At I 8 7

[Question ID = 638][Question Description = $2_qSNz_PG_SMC_Q30]
1. Rajasthan/=rzma [Option 1D = 2549])

2. West Bengal/uitm ssnm [Option 1D = 2550]

3. Tamil Nadu/mf¥emng [Option D = 2551]

4. Kerala/ae [Option 1D = 2554]

Correct Answer :-
# Rajasthan/memema [Option 1D = 2549]

31) The most common disease screening test, used in the early 20'" century happened to be:

20 & 5t @ guin A waiftye geist B snat archl 31 wiadler ST (Fafifsier T3) si1d 4

[Question ID = 639][Question Description = $2_qSNz_PG_SMC_Q31]

Blood smear for malaria parasite /st urkdt @ B 7w 2w (F8R=) [Option 1D = 2553]

Clinical examination for leprosy/@m @ v aigifems wiewr [Option D = 2554]

Serological blood test for syphilis/ it o Bm dba S=nferr 2 sita [Option 1D = 2555]

Smear staining for plague bacilli/wer @ sfumyail =5 Be 7 sddea (Fer xcfEen) [Option 1D = 2556]

B P

Correct Answer :-
& Blood smear for malaria parasite/sdiben gedikl o Be 70 8 (8=z) [Option 1D = 2553]

32) Amongst the speicific protective measures mentioned below, the most recent is

forrarifera fafdre Feemeae aral d w9 s o 30T 3 ¢

[Question ID = 640][Question Description = S2_qSNz_PG_SMC_Q32]
1. Small pox vaccination/a=rr dormam

[Option ID = 2557]
2. Use of Diptheria antitoxin/fewefifsar vaers o1 gEe

[Option ID = 2558]
3. Vitamin C for Scurvy /wx=ff @ P Reibm - of

[Option ID = 2559]
4. Protection from mosquito bite against Malaria/aciEn @ =g w9 o 3 3260

[Option ID = 2560]

Correct Answer :-
e Small pox vaccination/dxrr drorrzm

[Option ID = 2557]

33) The ancient medical system that is considered as an early pioneer of immunisation is
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greflar Rifdsean gonrelt B Sorssor wr e gadas aven swar 2

[Question ID = 641][Question Description = $2_qSNz_PG_SMC_Q33]
1. Roman/3&m [Option ID = 2561]

2. Indian/smed [Option 1D = 2562]

3. Chinese/=i=d [Option ID = 2563]

4, Greek/z@mstt [Option 1D = 2564)

Correct Answer :-
a Roman/Zma [Option 1D = 2561]

34) Facility integrated ICTC is present in

Firen Fafsa sud ot & A Breafedym J A Rowei saRaa 3 7

[Question ID = 642][Question Description = S2_qSNz_PG_SMC_Q34]
1. Medical colleges/Riforan AsiErer

[Option ID = 2565]
2. Subdistrict hospitals/su Bren s

[Option ID = 2566]
3, CHCs (block level)/ =t wa ot (yxis ww)

[Opticn ID = 2567]
4. Below Block level/usis = 31 ofi

[Option ID = 2568]

Correct Answer :-
o Medical colleges/ ffrrar aeilerrr

[Option ID = 2565]

35) According to Maslow's hierarchy of needs, the lowest amongst the following is the need for sense of:

AFCIl & A9l HIaTl @ AR, RraikilRaa 3 21 few snaen &t sragadar Aasy ofRy akh 8 7

[Question ID = 643][Question Description = $2_gSNz_PG_SMC_Q35]

Belongingness/ ok (foisr=) [Option 1D = 2569]
Appreciation/ugian (afiRmeer) [Option 1D = 2570]
Responsibility /sl (RediEE) [Option D = 2571]

Job satisfaction/—w Fgitc (dE akedawer) [Option 10 = 2572]

e kad R

Correct Answer ;-
e Belongingness/rekrma (RiPemi) [Option 1D = 2569]

36) Which one of the following statements about motivation is true for most people?

Jierepigl cafipal @ fere ARz @& Hder A orroiftiliaa & 31 oot - = Dot T8 8 7

[Question ID = 644][Question Description = $2_qSNz_PG_SMC_Q36]

Like to succeed/swa 2mr aigar [Option |D = 2573]

Do not scarifice for self-development/zg R & o7 /@1 =@ o5 [Option D = 2574]
Fear decision making /el &= # a1 @ [Option 1D = 2575]

Fear responsibility/sreiRra 90 9 arl e [Option 1D = 2576]

oW =

Correct Answer ;-
e | ike to succeed /e gien aen [Option D = 2573]

37) False perception is known as

fareanr smmElero assenar § :

[Question ID = 645][Question Description = S2_qSNz_PG_SMC_Q37]
[usion /spfeer (smaem) [Option D = 2577]

Imperception/smyfiseern (saedrem) [Option 1D = 2578]

Delusion/smrakts (3wEe) [Option 1D = 2579]

Hallucination/aftnm (EogfBetym) [Option 1D = 2580]

bt B

Carrect Answer :-
o |llusion/xifEa (seem) [Option 1D = 2577

38) An office employee without 'face mask' gave reason for non use as, "l was just going to wear it.” This is an example of
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wratera # Rt welndl 51 By wiew 518l TISIUIT SIIGE T ARNIT S GaRT S
"3t apft 53 cena & s ver o™ ws Rowrot 3o15701 B 7
[Question ID = 646][Question Description = $2_qSNz_PG_SMC_Q38]

Rationalisation/icrbremo Guywaraisrr) [Option 1D = 2581]
Projection/usir (dieirsrer) [Option 1D = 2582]
Displacement /faremua (Redemie) [Option 1D = 2583]

Regression//gimnme (Repm) [Option 1D = 2584]

B 2

Correct Answer :-
e Rationalisation/difrblom (Yoernssierr) [Option 1D = 2581]

39) Cost per Quality Adjusted Life Year gained is calculated in

g gfer sporaer warnBra shae ad @ fRre aos &t s1oren Bea 3 6 oot 3 7

[Question ID = 647][Question Description = S2_qSNz_PG_SMC_Q39]
Cost minimization analysis/aer sErerr Fedar [Option 1D = 2585]

Cost effectiveness analysis/mmerr ganfrn Redaer [Option 1D = 2586)

Cost utility analysis/oerr swiférn freauor [Option 1D = 2587]

Cost benefit analysis/cierr o fahaor [Option 1D = 2588]

bt B

Carrect Answer ;-
# Cost minimization analysis/=@a sypara fysaer [Option ID = 2585]

40) The most appropriate analysis to compare two interventions, where the more effective one is also costlier, is

oft Bafer wor, s/ 3 svasial B goen @ wwa Affes ekt sradia affre sEen B 8 ; maifes o Redaor §
[Question ID = 648][Question Description = $2_qSNz_PG_SMC_Q40]

Cost benefit analysis/oerT o Reaau [Option 1D = 2589]

Cost minimisation analyisis/ o= sgermre frdam [Option 1D = 2590]
Incremental cost effectiveness ratio/amer oewrT gl aguors [Option 1D = 2591]
Marginal cost /e amrt [Option ID = 2592]

R

Correct Answer :-
# (Cost benefit analysis/ows oo fredam [Option 1D = 2589]

41) Which of the following species of Anopheles are commonly found in foot-hills regions?
A. An. sundaicus

B. An. culicifacies

C. An. fluviatilis

D. An. minimus

Choose the correct answer from the options given below:

fBreaferf¥aa 3 A wier - = Yanibfera &t snfer Pifvae &qi A wrarewTa: ard skt 2 7
A. vol. dsEwH

B. Ya. uyferfieadis

C. Yo vgieifRfer

D. %o1. Biforerar

ofta e =10 Rroseal # A w8 s gdl ©

[Question ID = 649][Question Description = $2_qSNz_PG_SMC_Q41]

1. A and B only/dam A 4z B [Option ID = 2593]
2. Band C only/@aer B 4z C [Option ID = 2594]
3. C and D only/@ae C aiiz D [Option [D = 2595]

42) Which of the following diseases are transmitted by louse?
A, Epidemic Typhus

B. Oraya fever
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€. Trench fever
D. Endemic Typhus

Choose the correct answer from the options given below:

Rmateiiad 3 3 oia -a1 o1 f Zr1 gznla aar g ?

A, oRERre cspa

B. R gae

C. %a gmm

D. uissfiie aswa

i 2w a1 faascal 3f 2t 718t 3z gol ©

[Question ID = 650][Question Description = $2_qSNz_PG_SMC_Q42]

A and B only/<we A oz B [Option ID = 2597
A and C only/@ae A #fie C [Option ID = 2598]
A and D only/oae A 3z D [Option ID = 2599]
B and D only/@sae B &z D [Option 1D = 2600]

Pk ot R s

Correct Answer ;-
o Aand B only/dsmm A @iz B [Option 1D = 2597]

43) Which of the following are the characteristics of a sandfly?
A. Lanceolate shaped wings.

B. Legs are shorter compared to the body size.

C. Slightly bigger than a mosquito.

D. Does not fly by choice.

Choose the correct answer from the options given below:

forgmieitian 3 21 la it awatisor (Fewars) & fadaam 2 ?

A, acaa - Al (cliciRisme) ARpIE @ UM 2 2

B, sl st orflz & anmeer &6 oo & S1ET gt E

C. oz Aoz 3 o a8t 2rft 2

D. sraeil sTo1 3 oidl 3ol

iy o are fomsedl 3 3 =dl vz 9o ¢

[Question ID = 651][Question Description = $2_qS5Nz_PG_SMC_Q43]

1. Aand B only/@am A#r B [Optien ID = 2601]
2. Band C only/wa= B d= C [Option 1D = 2602]
3. Cand D only/fwerr C 3z D [Option [D = 2603]
4, Aand D only/faeT A &z D [Option 1D = 2604)

Correct Answer :-
& Aand B only/dsm A iz B [Option 1D = 2601]

44) Pasteurization of milk will not be able to kill
A. Tubercle bacilli

B. Q fever organism

C. Thermoduric bacteria

D. Bacterial spore

Choose the correct answer from the options given below:

S8 O URMIEGI0T 3 R oiee o1st 8t uren 3 7
A. gRwpa dfaf

B. =y iz aeifersa

C. epitwfrr dadifsn

D. Fdtirra iz
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aitar v 1o fraseal 3 3 =8 sae gdl
[Question ID = 652][Question Description = S2_qSNz_PG_SMC_Q44]

1. A and B only/@em A &fiz B [Option 1D = 2605]

2. Band C only/@ae B &iv C [Option ID = 2606]
3. Cand D only/awe C 3fiz D [Option D = 2607]
4. A and D only/@%@e A &tz D [Option ID = 2608]

Correct Answer :-
& A and B only/f@aa A sfiz B [Option 1D = 2605]

45) Which of the following criteria suggest a diagnosis of Severe Acute Malnutrition (5AM)?
A. Very low weight for age

B. 2 score below 2-5D of the median WHO child growth standards

C. A mid-upper arm circumference < 115 mm

D. Presence of nutritional cedema

Choose the correct answer from the options given below:

Brrafatiaa 3 2 oo il gz oo (Fm) & a5 D AGKS B

A, 35 & eftcoiul A aga oA asil

B. anigzrest secy wa 30l 9K SR Hiold @ 2 - Wil el A 2 3i0 o
C. fepel arear - Hudl diz &t aftf (B - oz aef 3daeiz ) < 115 mm
D. diufiras oire (f3a) &t safefy

il R 1o Rraseal 3 3 78 swe odi @

[Question ID = 653][Question Description = $2_qSNz_PG_SMC_Q45]

1. A and B only/oam A i3 B [Option 1D = 260%]
2. Band C only/@aa B &tz C [Option ID = 2610]
3. Cand D only/@ C aftz D [Option D = 2611]
4. A and D only/@%@e A &tz D [Option ID = 2612]

Correct Answer :-
® A and B only/@ae A & B [Option ID = 2609]

46) Which of the following are correct criteria for Reference Indian adult man?
A. Engaged in 8 hours of occupation which involved moderate activity

B. Weighs 60 kg

C. Height of 1.8 metre

D. Aged between 21-30 years

Choose the correct answer from the options given below:

forraifertianT 3f 2 a=n o= wied @ YB3 o UsH O ol i 7l Amigs
A, argor 33 ¢ifl # 8 = o A oen TEen faradl ARNe orRfean B 3

B. asiat 60 kg

C. o< ot 3ar 1.8 Alez

D. 21 31 30 ad & &=

i 2w a1 faescal 3f 2t 78t 3z 9ol ©

[Question ID = 654][Question Description = 52_qSNz_PG_SMC_Q46]

1. Aand B only/@am A iz B [Option ID = 2613]
2. Band C only/@aa B 4tz C [Option ID = 2614]
3. Cand D only/se C 4z D [Option ID = 2615]
4. Aand D only/oam A @iz D [Option 1D = 2616]

Correct Answer :-
o Aand B only/@ae A & B [Option ID = 2613]

47) Which of the following are correct general recommendations during disaster management?

A. Calculating daily food rations
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B. Intensify vector control activities
€. Mass vaccination of population against Tetanus
D. Non-restricted access to water sources

Choose the correct answer from the options given below:

3UGT Ygtel @ Skl BeaifiiRaa # 3 wier At 718 s RBroifeg § 7

A. Siorr disret 3¢ w1 B waon

B. g emam® - foriger Roarooma

C. ool @ [Oeg S350 @1 1A CRelaa

D. s il oo forafer uga

ofl Bn =10 Repedi A A wf s gl ¢

[Question ID = 655][Question Description = $2_qSNz_PG_SMC_Q47]

1. Aand B only/dsm A & B [Option 1D = 2617]
2. Band C only/wa B &z C [Option 1D = 2618]
3. Cand D only/fwerr C 3z D [Option ID = 2619]
4. A and D only /e A 4z D [Option ID = 2620]

Carrect Answer :-
® Aand B only/ogm A3 B [Option ID = 2617]

48) The preferred "Aids' used to educate single individual are
A. Photographs

B. Role playing

C. Chalk & board

D. Pen & paper

Choose the correct answer from the options given below:

whal its @l D1l S & Ygee aila sere aeEf § -

A, pICIsIE

B. yfdmo1 foxdaet

C. arp iz |15

D. et 3z Uz

oifer o are femseal 3 3 wdl 3z 9o ¢

[Question ID = 656][Question Description = $2_qS5Nz_PG_SMC_Q48]

A and C only/@ae A #iz B [Option ID = 2621]
A and D only/@ae A 3z D [Option 1D = 2622]
B and C only/axwT B dz C [Option 1D = 2623]
B and D only/w@xwT B dz D [Option 1D = 2624]

N N VN Y

Correct Answer :-
o Aand C only/amT A diz B [Option 1D = 2621]

49) The nuclear scientist had an accidental exposure to radiation in a radio nuclear laboratory. 5 years after this event, he
was diagnosed as having leukaemia.

Identify the causal relationship between radiation and leukaemia for the above scenario.
A. Necessary

B. Not necessary

C. Sufficient

D. Not sufficient

Choose the correct answer from the options given below:

IR0 qzamy gritsTomen # azary Hsnfors ov fftsver o e i Rerd a3t w91 acon @ 5 ad @ 33 59 Iv ©ue (cwbifirn) o Brewe
fosen s SuRive uf¥zea d fafdeeur afiz oo Dz (cydifden) @ dia oruraT Hdea &I ugare DHifw

A, smagTs
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B. sz it
C. oafn
D. w=iin a8t
ofl) Bn =1 Repedi A A wd s gl ¢
[Question ID = 657][Question Description = $2_qSNz_PG_SMC_Q49]

1. Aand B only/asm A d B [Option 1D = 2625]
2. Band C only/@ae B 4tz C [Option ID = 2626]
3. Cand D only/asme C iz D [Option D = 2627]
4. A and D only/dae A 4tz D [Option ID = 2628]

Carrect Answer :-
® A and B only/@aa A sz B [Option 1D = 2625]

50) Health committees related to Malaria include

A, Mudaliar Committee

B. Madhok Committee

C. Kartar Singh Committee

D. Chadha Committee

Choose the correct answer from the options given below:

Fafyn I Hdita Farsen wifern £ 7

A. gofersre afify

B. s afhfer

C. wyar Ris afdla

D. <ger afaf

il R ore Rraseal 3 31 78t oae gdi @

[Question ID = 658][Question Description = $2_qSNz_PG_SMC_Q50]
1. Aand Conly/amr Az C

[Option ID = 2629]
2. BandDonly/@aa B atz D

[Option ID = 2630]
3. Cand Donlyfuerr C diz D

[Opticn ID = 2631]
4. Aand D only/®aa Adiz D

[Option ID = 2632)

Correct Answer :-
o Aand Conly/amr A bz C

[Option ID = 2629]

51) True statements for propaganda are:
A. Makes people think for themselves

B. Appeals to reason

C. Appeals to emotion

D. Aims at impulsive action

Choose the correct answer from the options given below;

ORI @ A 3 HAee DU B .

A. <=l @l ¥ @ e ke 3q Qe oo

B. f<iF we3el T AGRIEl el

C. siraell @ fe1e 3mpRIer WIoll

D. amdfdm wriar! w1 3ged slen

ofl o =10 Repedi A A w1f s @ ¢

[Question ID = 659][Question Description = $2_qSNz_PG_SMC_Q51]
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A and B only/dam A 3fiz B [Option ID = 2633]
B and C only/@ae B 4tz C [Option 1D = 2634]
C and D only /9w C stz D [Option (D = 2635]
A and D only /3 A &tz O [Option ID = 2636]

oW

Correct Answer :-
o Aand B only/@aa A sz B [Option 1D = 2633]

52) Core principles of 'Sustainable Development Goals’ are
A. Policy

B. People

C. Partnership

D. Planet

Choose the correct answer from the options given below:

o R agal o gaa Rigia 87

A. ofifer

B. diter

C. aEki

D. s

ofl) Bn =1 Repedi A A wd s gl ¢

[Question ID = 660][Question Description = $2_qSNz_PG_SMC_Q52]

A, Band C only/@mm A, B 3fiz C [Option D = 2637]
B, C and D only/@wm B, C 3fiz D [Option ID = 2638]
4, C and D only/sae A, C iz D [Option ID = 2639]
A, B and D only/@am A, B afiz D [Option ID = 2640]

ol B

Carrect Answer :-
® A BandC only/dam A, B afiz C [Option ID = 2637]

53) Probability distributions based on proportion are
A. Normal

B. Binomial

..t

D. Poisson

Choose the correct answer from the options given below:

B. fruz

c. &

D. wazaa

iy o are fomsedl 3 31 =dl vz 9 ¢

[Question ID = 661][Question Description = $2_qS5Nz_PG_SMC_Q53]

1. Aand C only/@ae A 3z C [Option 1D = 2641]
2. Aand B only/dsmm A iz B [Option 1D = 2642]
3. Band C only/um B &z C [Option 1D = 2643]
4, Band D only/faeT B stz D [Option 1D = 2644]

Correct Answer :-
 Aand C only/daa A iz C [Option ID = 2641]

54) Which of the following are impact indicators?
A. HIV incidence rate

B. ART coverage

C. HIVY prevalence rate

D. ART retention rate
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Choose the correct answer from the options given below:

forgmterfian 3 & olet - 31 Y sidaw & 7
A, HIV smerce o2

B. ART wnfiy

C. HIV =muwm &2

D. ART gfiremsor 22

i 2w a1 faascal 3f 2t 718t 3z gol ©

[Question ID = 662][Question Description = 52_qSNz_PG_SMC_Q54]

A and B only/<we A iz B [Option ID = 2645]

A and C only/@ae A 3z C [Option ID = 2646]
C and D only/@sae C sz D [Option D = 2647
B and D only/@sae B &z D [Option 1D = 2648]

Pk ot R s

Correct Answer ;-
o Aand B only/dsmm A @iz B [Option 1D = 2645]

55) Which one of the following are the advantages of a self-administered questionnaire?
A. More validity due to improved understanding

B. More validity due to more privacy

C. More validity due to more completeness

D. More efficiency due to internet use

Choose the correct answer from the options given below:

Rraifiitiaa 3 2 @tet - A Ta - BRIk gssiach & am & ?
A, B2 A D Aol AlAS B IEIe

B. aftrs forsren @5 aae fias amiisaa

C. aiftres gukar @ T aftie aassivwTaT

D. sevolc @ QERT @ aod ARG garar

ofta fow s1g Rrasedl # 31 w1t 3o gl ¢

[Question ID = 663][Question Description = $2_qSNz_PG_SMC_Q55]

1. Aand B only/@am A iz B [Option ID = 2649]
2. Band C only/aaea B &tz C [Option ID = 2650]
3. Band D only/@aa B &tz D [Option 1D = 2651]
4, C and D enly/wsww C 4fiz D [Option D = 2652]

Correct Answer :-
® A and B only/@ae A & B [Option ID = 2649]

56) Which of the following statements are NOT correct regarding the growth and development of children in India?
A. Double the birth weight by the age of 7 months.

B. At least 500 gm weight gain per month till the age of 3 months.

C. Increase body length by 50% at the end of the second year.

D. Chest circumference overcomes the Head circumference by the age of 6-9 months.

Choose the correct answer from the options given below:

sz o aodl B 2igly A Ao @ sdy i Beattfaa 3 3 oia 3 wuaa 78 a8 &
A. 7 mrz @t 30wy orop Siow O ARRT T Astel SY SO B S 3

B. 3 ms & 3=y g weat aw yfens aser # on A wa 500 spa &6t iy

C. g3 ad @ sia @ oidly &Y ciend # 50 gftrera aw & giy

D. 6 & 9 ms &t sy oer ot B oy Bz & oy & a3f2res & sl 3

oft R o1g Rraseal 3 3 aft s gd @

[Question ID = 664][Question Description = 52_gSNz_PG_SMC_Q56]
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A and C only/@ae A 4z C [Option ID = 2653]
B and D only/&@ae B 4tz D [Option 1D = 2654]
A, B and D only/dae A, B sz D [Option |D = 2655]
B, C and D only/@ae B, C itz D [Option ID = 2656]

N S PO L ey

Correct Answer :-
o Aand C only/@aa A &t C [Option ID = 2653]

57) Correct statements regarding the vasectomy method of family planning are:

A. Can be performed in a PHC under local anaesthesia,

B. Most common cause of failure is spontaneous recanalization.

C. Following vasectomy, sperm production and hormone output are not affected.

D. Post-vasectomy, the person is advised to use an alternate family planning method till 20 ejaculations.

Choose the correct answer from the options given below:

af¥ar fBriser B sered il @ an 3 Beaftfaa i 3 oo 3 wuer w6t 3

A. a5 srHEg! dipa olFiRrn S Yraiire e dog a3 &I ST FRodl &

B. sored finpar Bt w1 watitn Aeea Rl Faa: JHEIA &

C. sreidl & a5 9Rp] 9ol 31e srilel Rroore! &t itz gupnfim ofl aki &

D. srrdt @ a wafie w1 20 ar dkiua 8B @ w1 a5 Soifituw ufrar Brilser &t wens 6 st §
ofl) Bn =1 Repedi A A wd s gl ¢

[Question ID = 665][Question Description = $2_qSNz_PG_SMC_Q57]

A and D only/axwT A iz D [Option 1D = 2657)
A and C only/aswT A site C [Option ID = 2658)
B and C only/@ee B gz C [Option ID = 2659]
B and D only/&aer B 4z D [Option ID = 2660]

ol B

Carrect Answer :-
® A and D only/@ad A iz D [Option ID = 2657]

58) Which of the following statements are correct regarding the Basal Body Temperature (BBT) method of family planning?
A. Based on the rise of BBT at the time of menstruation.

B. The rise of temperature is very small (0.3-1.5°C).

C. The preferred time of measuring temperature is before going to bed for sleep at night.

D. It is reliable if intercourse is restricted to the post ovulatory infertile period.

Choose the correct answer from the options given below:

git gui orism & smenfee 9z anams (1 < &) aght < Foees d BesiftiRaa weell #d @la 3 w1t
A. et @ s @ & € @ Tl uz nenfya 3

B. araemer ¥ gfg aga eisr (0.3 - 0.5° C) erft 2

C. AneIel ©Y AU 1 IR FIRT T4 d Rieas @ 30 & e ae 3 ued ©1 8

D. 3z firaeei 2 afe avsicerst © ag o Sioiel ASIA Il 3 I3et gREiin gt

iy o are fomsedl 3 31 =dl vz 9 ¢

[Question ID = 666][Question Description = $2_qSNz_PG_SMC_Q58]

1. Aand B only/@am A#R B [Optien ID = 2661]
2. Aand C only/am A diz C [Option ID = 2662)
3. Band D only/m B &z D [Option 1D = 2663]
4, Band C only/faeT B stz C [Option 1D = 2664]

Correct Answer :-
* A and B only/@aer A 35 B [Option ID = 2661]

59) Which of the following vital signs are to be checked while measuring the APGAR score in a newborn baby?
A. Respiration

B. Time of crying after birth

€. Reflex response

D. Muscle tone
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Choose the correct answer from the options given below:

oI e farg] 3 v ot St wane 7oz @1 aimar iran 2 Al fomicilian @ia 3t #eraget Ricel &t @ foean amar 2 7
A, gt

B. Siod @5 Ui o<l @ Al DI HHA

C. gferact s

D. @iz deft wifd (@aa dar)

i 2w a1 faascal 3f 2t 718t 3z gol ©

[Question ID = 667][Question Description = 52_qSNz_PG_SMC_Q59]

1. A, B and C only/dae A, B iz C [Option ID = 2665]
2. B, Cand D only/@aa B, C sz D [Option ID = 2666]
3. A, B and D only/@am A, B sfiz D [Option D = 2667
4, A, Cand D only/«f= A, C &z D [Option ID = 2668]

Correct Answer ;-
e A, BandC only/<mm A, B 3z C [Option D = 2665]

60) Maternity and Newborn services provided by hospitals under "Baby-Friendly Hospital Initiatives” are:
A. Show mothers how to breastfeed.

B. Help mothers to initiate breastfeeding within 4 hours of normal delivery.

C. Practice Rooming-in, 24 hours a day.

D. Facilitate immediate and uninterrupted skin to skin contact.

Choose the correct answer from the options given below:

"fargr oy arruara &6 usa ' & sidasia yga ygia iz oraeme forgp yferemait 3 onfia & ¢
A, Srorell @l Frel i i Fffr gerfenn

B, wmae gEpfe @ 4 #¢ & sfiae el ural A1 el A Sialeit bl FERKE el

C. IGar 3 24 & "=l 50 @1 A

D. arwmre iz orafer caan 21 ramn Faef B Fglden gem wen

oifer o are fomsedl 3 3 =dl 3z 9o ¢

[Question ID = 668][Question Description = $2_qS5Nz_PG_SMC_Q60]

1. Aand B only/@am A#r B [Optien ID = 2669]

2. Aand C only/ame A di C [Option 1D = 2670]

3. A, Band C only/<mm A, B 3fiz C [Option D = 2671]
4, A, Cand D only/awrT A, C &z D [Option ID = 2672]

Correct Answer :-

& Aand B only/dsmm A iz B [Option 1D = 2669]

61) ES|I Scheme covers eligible workers employed in

A. Defence

B. Mines

{. Hotels and restaurants

D. Private educational institutions

Choose the correct answer from the options given below:

£ oH 311 Alaren J BwiiRaa # ol W @l ung oo enfira & :

A. g

B. wmor

C. slca 3iiz Yeca

D. Brsht sizifvws Fivems

ofl Bn =10 Repedi A A wf s gl ¢

[Question ID = 669][Question Description = $2_qSNz_PG_SMC_Q61]
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| 1. Aand B only/dee Adfis B

[Option ID = 2673]
2. CandDonly/aaoa C #fiz D

[Option ID = 2674]
3. Band C only/@aa B 4iz C

[Option ID = 2675]
4, Aand Conly/daa Adz C

[Option ID = 2676]

Carrect Answer :-
® AandBonly/@aa AR B

[Option ID = 2673]
62) Which of the following statements are TRUE regarding centchroman?
A. Developed by Central Drug Research Laboratory, Lucknow.
B. It is taken twice a week.
C. Does not contain any steroidal hormones.

D. Available under the trade name of "TODAY".

Choose the correct answer from the options given below:

forgmteitian 3 21 Blet - A e AHeglaa & dcl A T 8 ¢

A, ®Ek ATaer ollel YRISIONGI, T&ins oI fabling

B. 531 wrame 3 €1 wz o wem 2

C. 33 »if 3eiisga oila widl Glar &

D. "g3" carnfss s 31 Faoeil

oifer o are femseul 3 3 wdl 3z 9o ¢

[Question ID = 670][Question Description = $2_qS5Nz_PG_SMC_Q62]

A and B only/@am A & B [Option ID = 2677
A and C only/@ae A 3w C [Option ID = 2678]
B and C only/@ae B iz C [Option 1D = 2679]
B and D only/w@xwT B dz D [Option 1D = 2680]

B R L ]

Correct Answer :-
o Aand B only/dsmm A iz B [Option 1D = 2677]

63) Limiting amino acids in maize are
A. Lysine

B. Tryptophan

C. Threonine

D. Niacin

Choose the correct answer from the options given below:

#Aad # Hifdm ary A ure Sirel axt Uidedl - e $

A. arslien

B. Reerbar

C. Rk

D. fornfita

oifer o are femseul 3 3 wdl 3z 9o ¢

[Question ID = 671][Question Description = $2_qS5Nz_PG_SMC_Q63]

A and B only/@am A & B [Option ID = 2681]

B and C only/axwT B diz C [Option 1D = 2682]
C and D only/@wwmr C 3z D [Option D = 2683]
A and D only/aswT A iz D [Option ID = 2684)

R

Correct Answer :-
* Aand B only/ogm A 3 B [Option ID = 2681]
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64) Which of the following are the advantages of Secondary Data analysis?
A. Provides control over the data.

B. Can be used in combination with primary data to increase validity.

C. Useful in studying effectiveness and utilization of intervention.

D. More resource-intensive.

Choose the correct answer from the options given below:

Rrafefan 3 3 Siel Fodlae amems awell Ressw (F@s] sk werashine) & am & ?
A, s g snem Il (S1er) e horiqm ygrel fipen aiv

B. SHT SueeT AL SO 3 YRR AR ARG (gl S & st 3 Ko s 3
C. g g8 o Yt da JUReT T 3R ol 3 Juziell g &

D. aE s#f2re e FHadt gt &

oifer o are femseul 3 3 wdl 3z 9o ¢

[Question ID = 672][Question Description = $2_qSNz_PG_SMC_Q64]

A and B only/@am A & B [Option ID = 2685]
B and C only/oae B &z C [Option 1D = 2686]
C and D only/a@sae C sz D [Option D = 2687
Aand C only/aswT A itz C [Option ID = 2688)

N R PE N L Y

Correct Answer :-
o Aand B only/dsmm A i B [Option 1D = 2685]

65) 'APGAR Score' is a type of:
A. Qualitative data

B. Quantitative data

C. Ordinal scale

D. Ratio scale

Choose the correct answer from the options given below:

7 ol 3t v Iz ok et oo gor € -

A. SneaEs o
B. ulnuirsrs o

C. THITIS HAmil

D, sreara Andel

oifer o are femseul 3 3 wdl 3z 9o ¢

[Question ID = 673][Question Description = $2_qS5Nz_PG_SMC_Q65]

1. Aand C only/@ae A 3z C [Option ID = 2689]
2. Aand D only/mT A diz D [Option 1D = 2690]
3. Band C only/aa B &z C [Option 1D = 2691]
4, Band D only/faeT B gtz D [Option 1D = 2692]

Correct Answer :-
& Aand C only/@aer A diz C [Option ID = 2689]

66) Match List | with List Il

List | List Il

Age group IOccular Manifestation

A. Under fives l. Senile cataract

B. School going  |ll, Diabetic retinopathy

C. Middle age lll, Refractive error

D. Elderly IV. Retinopathy of prematurity

Choose the correct answer from the options given below:

=R -1 @ et -1l A AR B
et -| gt -l
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(a=rasi) (S - Haeh sifdreafis)

A, aie ad 3 i 1. SEratss1 iR fao

B. Remcr smal am Il. srepdis Haeh IRwgR

C. AeeraRT . st g

D. gz V. srsaRenar o6t s

aitdr v oo frwseal 3 A =8 saw gfee ¢
[Question ID = 674][Question Description = S2_qSNz_PG_SMC_Q66]

1. A-UlL,B-1, C-LV, D-l[Option ID = 2693]
2. A-1V,B- UL C- I, D-1 [Option ID = 2694]
3. A-1,B-1, C- W, D-¥ [Option ID = 2695]
4. A-1,B-1L C-v, D-l[Option 1D = 2696]
Correct Answer ;-
e A-L,B-Ll, C-¥, D-l[Option ID = 2693]

67) Match List | with List Il

List | List Il

Diseases Incubation Period
A. Pneumonic Plague [I. 10-14 days

B. Hepatitis B Il. 21-42 days

C. Typhoid Fever 11l. 30-180 days
D, Tuberculosis IV, 1-3 days

Choose the correct answer from the options given below:

TR -1 @ et -1l A ARE B

et - | et -l
151 Fgdol @raT ([a1)
A. SIfTs wreT 1. 10 - 14 R
B. 3w @ Il. 21 - 42 Rer
C. sigsaz (cEbiss) gEr I, 30 - 180 fea
D. arder V. 1-3Ra

iy Rw s1e faseal i 31 A8t 3w gfew

[Question ID = 675][Question Description = 52_qSNz_PG_SMC_Q67]
1. A-L,B-1,C-l,D-v

[Option ID = 2697]
2. A-W,B-W,C-1v,D-l

[Option ID = 2698]
3. A-UL,B-1V,C-1,D-L

[Option ID = 2699]
4, A-WW,B-W,C-1,D-Ul

[Option ID = 2700]

Carrect Answer :-
o A-LB-U,C-U,D-I¥

[Option ID = 2697]

68) Match List | with List Il

List |

IList Il

A, Advanced model of the
triangle of epidemiology

[l. Related to carriers and asymptomatic
cases

B.Web of causation

fll. All predisposing factors for condition
visualised

C. Iceberg phenomenon

I, Causative factors and ecological
lements with population characteristics

D. Natural history of the
disease

[IV. Studied in a cohort design

Choose the correct answer from the options given below:

et -1 @ et -1l A AR B

et -1 et -l

prepp
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A dtma il ekt o Ly ‘I. arzst sl srerorter Fnel 3 SR
@1 Foold Ylearsu

I, Refer @ el geenisht wrwt & wegar & st
3

ll. Sorzis=n ot fadvaersil @5 wrer - AT Yaomelas
e A kil e

B. wricsrm @1 FIre

C. Zxdia uly=een

D. 351 @1 yralvre skwrr IV, Asemn aifdcoou 3 srezrrel Rowm sRn

ofr oy a1e sl & 21 w1t saz gione |

[Question ID = 676][Question Description = 52_qgSNz_PG_SMC_Q68]
1. A-LB-UL,C-,D-v

[Option ID = 2701]
2, A-ILB-LC-1Y, D-lL

[Option ID = 2702]
3. A-W,B-1I,C-1,D-vV

[Option ID = 2703)
4, A-IVB-L,C-U,D-U

[Option ID = 2704]
Correct Answer :-
e A-LB-U,C-WI,D-V
[Option ID = 2701]

69) Match List | with List Il

List | List Il

A, Cocaine I. Mood elevation and elation

B. Amphetamine ]II. Excitement and hallucination

C. Cannabis lll. Development of a dreamy state
D. Lysergic acid diethylamide ]IV, Altered structuring of perception
Choose the correct answer from the options given below:

et -1 @ et -1l A AR B

opeht - | oxedt -1l

A, oYaer |, GO BT Ioolelol, IccliA
B. Sabeniia I, Svrrom itz AlnyH

C. sifor (dFaifas) 1. raftsrer srazen @1 R

D. ferafsie s sEsuEcianEs IV, aier &1 uf¥akia dzaen agm

oftar e oo froseal & A =8 saw gfee ¢
[Question ID = 677][Question Description = 52_gSNz_PG_SMC_Q69]

1. A-1,B-1,C-LV,D -l [Option ID = 2705]
2. A-1,B-1,C- U, D -V [Option ID = 2706]
3. A-ULB-LV,C- UL, D-L[Option ID = 2707]
4. A-LB-

70) Match List | with List Il

List | List Il

Category of Biomedical Waste Disposal Type of Waste

bag/Container

A Yellow |, Syringes with fixed
needles

B. Red Il. Metallic body implants

C. White lll, Intravenous tubes

D. Blue IV, Expired medicines

Choose the correct answer from the options given below;
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TRt -1 @ et -1l A ARE Hif

it - | it -l

(via Riftpraiier @ foruerat el urg &6t o o ]

oyuft)

A, dien |. F avr s

B. ara Il. ordls 3 amRe anRIavT

C. ade ll. sroa: B ot (Sgdas o)
IV, sifergia dfufzrn (voaurE

D. sfier )

oY R o1 famedl A A 2l sme g :

[Question ID = 678][Question Description = $2_qSNz_PG_SMC_Q70]
1. A-ILB-UW,C-v,D-L

[Option ID = 2709]
Gl Bl GV, B

[Option ID = 2710]
3. A-WV,B-WL,C-,D-U

[Opticn ID = 2711]
4, A-L,B-W,C-U,D-

[Option ID = 2712]
Correct Answer ;-
e A-LLB-ULLC-IV,D-L
[Option ID = 2709]

71) Match List | with List Il

List | IList I

Vitamin |Deficiency feature

A. Thiamine |I. Megaloblastic anaemia
B. Riboflavin  |l. Dermatitis

C. Niacin |Ill. Angular stomatitis

D. Folate Iv. Peripheral neuritis
Choose the correct answer from the options given below:

I -1 B 3t -1l A Ao Bifw ¢

et - | et -l
(RrerBier) |(zooit  creror)

A. gt I. Ineieenfize ufafom
B. wrsaIwaifier lIl. coarmer (s#csR)
C. Rrnfrer 1. doper w=ieERa

D. Wik Iv. afrdzer sgba

oitdr e oo froseal & A =8 saw gfee ¢
[Question ID = 679][Question Description = $2_qSNz_PG_SMC_Q71]

1. A-l, B-L¥,C-L, D-ll[Option ID = 2713]
2. A-W,B-lll, C- Ll D-l[Option ID = 2714]
3. A-1,B- 1, C-1V, D-l[Option ID = 2715]
4. A-ULB-

|, C - ¥, D -ll [Option ID = 2716]
Correct Answer :-
e A-U,B-LV,C-L D-U[OptionID =2713]

72) Match List | with List Il

List | lList 1

Type of mosquito |Disease transmitted in India
A. Anopheles |I. Japanese encephalitis

B. Culex |II. Malayan filariasis

C. Aedes |III. Malaria

D. Mansonoides |IV. Chickungunya

Choose the correct answer from the options given below:
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TRt -1 @ et -1l A ARE Hif

et -| el -l

(e @1 yR)) |(2veT 3 gmfea 2eT)
A. deiifbfera . st RasD oher
B. waa Il srerht wrrafrnfr
C. ufdm 11, st

D. HorsisitaRa Iv. Rreworeperar

i Ru s1e faseal 3 31 A8t 3w giew
[Question ID = 680][Question Description = $2_qSNz_PG_SMC_Q72]

1. A-1,B-1v, C- L, B -l [Option ID = 2717]

2. A-IVB-LC-L,

3. A-ULB-LV,C-L,
4. A-ULEB-L C-1Y,

Correct Answer -

D - Wl [Option ID = 2718]
D - Il [Option ID = 2719]

D - Il [Option ID = 2720]

e A-1,B-1V,C-1,D-Il [Option ID = 2717]

73) Match List | with List Il

List | List Il

Type of Approximate Penetrating Ability (highest range) for
Radiation Tissue

& A!pha 1, 30 cm

particles

B. Beta particles [Il. 0.05 mm

Caamima Il 4 mm

particles

D, X-rays 1V, 50 cm

Choose the correct answer from the options given below:

et -1 Bt et -1 3 e Hif

areht -| et -l

(FaRpaor @1 geoR) [(afcemse dea s (Soaas afsr))
A. arcwT o ||. 30 3k

B. dier w1 |||. 0.05 Gt

C. a1 @or ||||. 4 finft

D. oaa - ¥ |w. 50 Jiaft

aitdr v oo frwseal 3 A =8 saw gfee ¢

[Question ID = 681][Question Description = $2_qSNz_PG_SMC_Q73]
1. A-LB-W,C-UL,D-I¥v

[Option ID = 2721]

2. A-ILB-U,C-L,D-LlV

[Option ID = 2722]

3 A-ULB-WLC-Y,D-1

[Option ID = 2723]

4. A-1,B-U,C-¥,D-1

[Option ID = 2724]

Correct Answer :-

e A-L,B-ULC-I,D-IV

[Option ID = 2721]

prepp
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74) Match List | with List Il

List |

lList 1

A, Incidence Rate ||. Disease burden in the community

B. Prevalence Rate |II. Disease risk estimation

C. Case Fatality Rate |III. Speed of the spread of disease in the community

D. Relative Risk

|IV. Killing power of the infectious agent
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Choose the correct answer from the options given below:

2 -1 B 3t -1l A Ao B

ageht -| et -1

A. 3ImETH 5 |. xR 3 3= T St

B. guctel g2 11, 2101 SifZaar andelol

C. 2Pt Irg a2 Ill, sger ¥ 31 & gam &t a1l
D. arear sif¥aw V. Fegrr geic @t s sfte

ofr fo a1g sl & 21 w1t saz giong ¢
[Question ID = 682][Question Description = $2_qgSNz_PG_SMC_Q74]

1. A-LB-1I,C- L, D-I¥ [Option 1D = 2725]
2. A-ILB-1LC-,D-IV[Option ID = 2726]
3. A-ULEB-LC-U,D- IV [Option 1D = 2727)]
4, A-IV,B-U,C- I, D-1[Option ID = 2728]
Correct Answer :-

o« A-LLE-I,C-I, D-V[Option ID = 2725]

75) Match List | with List Il

List | |List I

A, UNDP |I. Control of hookworm in India

Il. Strengthening natural and human
resources

B. World Bank

C. Cooperative for
American Relief
Everywhere

lll. Raising the standard of living of
opulation in developing countries

. Mid-Day Meal Scheme for primary
hool children

D. Rockefeller Foundation Fi

Choose the correct answer from the options given below:

et -1 ot et -1l 3 e i

et | e -l

A. g oot 31 dl |I.3ﬂ1ﬁﬁ3iag91-agﬁi{§ﬂm3f)ﬂs[ﬁlﬁqm

B. fser S I, grefas iz Arera A o1 Aagedt
}qmﬁﬂﬂ'ﬁﬂ

C. wpimia 6 spifvre Relte ||, Reoasiela Sor 3 srerdiwar @ shaer w2

LG B3 -0 ) FUTT DIl

D. e )IV. greif¥e e & awii & e Az

sl 1o oo Repedl & 3 318l 302 giene :

[Question ID = 683][Question Description = $2_qSNz_PG_SMC_Q75]
1. A-LB-IL,C-U,D-L¥

[Option ID = 2729]
% KSR I DL

[Option ID = 2730]
3. A-W,B-v,C-1,D-U

[Option ID = 2731]
4, A-W,B-L,C-U,D-

[Option ID = 2732]

Correct Answer :-
e A-LLB-I,C-W,D-L¥

[Option ID = 2729]

76) Chronologically arrange actions taken for investigation of an epidemic (from first to last) :
A. Preparing a spot map of the cases

B. Clinical examination of a sample of cases
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C. Developing an epidemiological case sheet
D. Relate the disease to environmental factors
Choose the correct answer from the options given below

wp #sIA Bt aa @ fore 30K 51 weH @l TRRpAGHR Rmaiduad HiEe (Quar A anf¥iah o) :

A. AREI @ UR ST 9K FUTE 1 ABIRK] J-113 W36l
B. AR @ oieel w1 deifens wEiemn weon

C. sReRricdiBrsa A=l - g @1 s

D. dierdt o vmilfazeita el 31 Fdfe amsen

oif) fev oo fRmpedi # 23 718t w2 ool @

[Question ID = 684][Question Description = $2_qSNz_PG_SMC_Q76]
1. A,B,C,D

[Option ID = 2733)
2. A,D,B, C

[Option ID = 2734]
3. B,C,A,D

[Option ID = 2735]
4. C,A B, D

[Option ID = 2736]
Correct Answer ;-
« A B C,D

[Option ID = 2733]

77) Arrange the following in chronological order from the oldest to most recent.
A. International Year of Children

B. International Year of Women

C. International Year of Older Persons

D. International Year of Disabled Persons

Choose the correct answer from the options given below

orrafelaa o grftoras snegforasan o5 woas H vaabiua @ifem :

A. sicreercdie s ad
B. sicrearsdir aifdenr ok

C. sireernda g s o

D. sirerdiv Rwotisr <R adf

sl o s1e Rrpedl 3 3 718 s @
[Question ID = 685][Question Description = $2_qSNz_PG_SMC_Q77]
1. A,B, C,D

[Option ID = 2737]
2. B,A,D,C

[Option ID = 2738]
3. C,B,D, A

[Option ID = 2739]
4. D,B,C, A

[Option ID = 2740]
Correct Answer ;-
« A B C,D

[Option ID = 2737]

78) Arrange the following legislations chronologically from the oldest to most recent
A. Air (Prevention and Control of Pollution) Act
B. Water (Prevention and Control of Pollution) Act

€. Environment Protection Act
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D. Prevention of Food Adulteration Act
Choose the correct answer from the options given below

orrafeera Rrenat @t grltoras 31 adfioras asicragareR wratiem &b @

A, arg (gouvr @ e iz Breiqer) sftderasa
B. srer (gguer & Ay 3iiv Brigor) sffdErm
C. gafazor dvgmor safdferaw

D. ey arafdioger foranzer siftderan

oifl fon oo Rrpedl 3 2 #71dl o2 9ol :

[Question ID = 686][Question Description = 52_qSNz_PG_SMC_Q78]
1. C,A, B, D

[Option ID = 2741]
2. C,D, B, A

[Option ID = 2742]
3. B,C,D, A

[Option ID = 2743]
4. D, B, A, C

[Option ID = 2744]
Correct Answer -
« C,AB D

[Option ID = 2741]

79) Arrange the following legislations chronologically from the oldest to most recent,
A, MTP Act

B. Child Marriage Restraint Act

C. Birth and Death Registration Act

D. Immoral Traffic Act

Choose the correct answer from the options given below

fBrraferdaa fRenal ot grellora 3 sngforoan @5 woma # wrabera @ifs @
A. wi & dt aftiform

B. e Rrars sreer aiftrforra

C. s5a iz gog Aasiioson sftiferm

D. smeiferes vararz aftfermn

ot e =10 Rroseal A A =8 s gdl ¢

[Question ID = 687][Question Description = $2_qSNz_PG_SMC_Q79]
to LBy

[Option ID = 2745]
2. B,D,C, A

[Option ID = 2746]
3. C,B,D, A

[Option ID = 2747]
4. D,B,C, A

[Option ID = 2748)
Correct Answer :-
e AL, B D

[Opticn ID = 2745]

80) Arrange the following legislations chronologically from the oldest to most recent,
A, Indian Public Health Standards for PHC/subcentre

B. Indian Public Health Standards for CHCs

C. Epidemic Diseases Act

D. Quarantine Act
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Choose the correct answer from the options given below

frrafelaa Rrenall @t grltorasn 31 ardfioras asieragaeAR watiem Sl @

A. Ol wa 7 / qudeg @ v sk Ard=iors Fared AnpRe
B. #it va it @ Rm wurrir ardsiline Farea Ao

C. smEmd Je1 aftiormE

D. sieRizrm (arder) ftfErmn

oif) fev oo fRmpedi # 23 718t w2 ool @

[Question ID = 688][Question Description = $2_qSNz_PG_SMC_Q80]
1. C,D, A, B

[Option ID = 274%]
2. C,D,B, A

[Option ID = 2750]
3.D,C A B

[Option ID = 2751]
4. D,C, B, A

[Option ID = 2752]
Correct Answer ;-
e« C,. D A B

[Option ID = 2749]

81) Arrange the following programmes in chronological order from the oldest to most recent
A. Janani Shishu Suraksha Karyakram

B. Rashtriva Bal Swasthya Karyakram

€. Janani Suraksha Yojana

D. India Newbarn Action Plan

Choose the correct answer from the options given below

oromtertiae wisronail ool gRitoras 3 srilsieer WwierpanR saafiad Hifsng

A. sroreft forey Fen wriuwH

B. ity arer Farvren wrkon

C. Srorlt Fyzanr distomn

D. siza srasmd iRt Alerar (308 ve ¢ o)

sl o s1e Rrpedl 3 3 718 s @
[Question ID = 689][Question Description = $2_qSNz_PG_SMC_Q81]
1. A,D,C,B

[Option ID = 2753]
2. C,A B, D

[Option ID = 2754]
3. B,C,A,D

[Option ID = 2755]
4. D,C, A B

[Option ID = 2756]
Correct Answer ;-
« ADC,B

[Option ID = 2753]

82) Arrange given health indicators in sequence in framework,
‘Input -> Qutput -> Qutcome -> Impact’.

A. Maternal mortality rate

B. Hospital bed density

€. Postpartum care coverage

D. Service utilisation
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Choose the correct answer from the options given below

‘aEa - oo - uiier o e J GeeldilRaa e Addmo] o) oaag o3 -

A, g Frg 5

B, Rifierama Rreaz goreg

C. ymrdraz ST =l

D. a1 <6t u=ifermn

oifer o are famsedl 3 3 =dl vz 9o ¢

[Question ID = 690][Question Description = $2_qSNz_PG_SMC_Q382]

1. A, B, C, D [Option ID = 2757]
2. D, C, B, A[Option ID = 2758]
3, B, D, C, A[Option ID = 2759]
4, C, A, D, B [Option ID = 2760]

1 1

Correct Answer :-
a A, B, L, D[Option ID = 2757]

83) Arrange the following legislations chronologically from the oldest to most recent
A. ESI Act

B. Indian Factories Act

C. Indian Mines Act

D. Workmen's Compensation Act

Choose the correct answer from the options given below

foramteifian frenal o greflaras A angforsaa & orieA i caafiera $Hifsm |
A, ¥ va ang aferferaa

B. wizdila sorwen sidicras

C. st mrer afiiformar

D. wd®r gt aftfermm

i 2w a1 faescal 3 2t 78 3z gol ©

[Question ID = 691][Question Description = 52_qSNz_PG_SMC_Q83]

1. A, C, B, D [Option ID = 2761]
2. B, D, A, C [Option ID = 2762]
3. C, B, D, A [Option ID = 2763]
4. D,B, C

, C, A [Option ID = 2764]

Correct Answer ;-
e A, C,B, D [Option D= 2761]

84) Arrange the following chronologically on the basis of the year of formulation from the oldest to most recent
A. National Population Policy(l)

B. National Health Policy(l)

C. National Nutrition Policy

D. National Policy for Empowerment of Women

Choose the correct answer from the options given below

foraaferfiaa @ fortor add &I zfte 31 Iaifie grliern 27 aftrean @ st # craiiea $ifen ;
A. IERT FIorsEn ik (1)

B. wrdler zamzea ofifer (1)

C. o=z gararz offer

D. wedlr afaen wotlvswyor sitfer

ofta R =15 Rraseal 3 3 aft s gdi @

[Question ID = 692][Question Description = S2_qSNz_PG_SMC_Q84]

| 1. A, B, C, D [Option ID = 2765]
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2. B, A, D, C [Option ID = 2766]
3. C, D, B, A [Option ID = 2767]
4. D, C, A, B [Option ID = 2768]

Correct Answer :-
e A B, C, D [Option ID = 2765]

85) Arrange the following legislations chronologically from the oldest to most recent
A, Coalmines Labour Welfare Act

B. Indian Mines Act

C. Indian Factories Act

D. ESI Act

Choose the correct answer from the options given below

Rrattitian fRensl o greflaaa A sneferpasn & wrmma A sraiera Hifsn .
A. PRICT e 9 Doaivl iR

B. st mmer siftifer

C. suxita wrwmn altifere

D. ¥ va e arorma

ofl o =10 Repedi A A w1f s @ ¢

[Question ID = 693][Question Description = $2_qSNz_PG_SMC_Q85]

A, B, C, D [Option ID = 2769)
B, A, D, C [Option ID = 2770)
C, A, D, B [Option ID = 2771)
D, B, A, C [Option ID = 2772]

1

bt B

Carrect Answer :-
¢ A B, C, D [Option ID = 2769]

86) Given below are two statements:
Statement |: 'Health for all’ is described as a revolutionary approach.
Statement Il: Primary Health Care is described as a revolutionary concept.

In light of the above statements, choose the most appropriate answer from the options given below

oIl 5 werel fRw 1w 3 ¢

were - | ¢ ' Il O e zaea’ @l Gifterd zftemiun & wu 3 ata fear airar
werd - || grefins Famred ¢ - 9 ®f Sifvenl aaavn @ s d afifa e e &
IURITE Bl  ACID 3, ol [ew sre fawcdl 3 31 A= IUYTD 302 ®I add i |
[Question ID = 694][Question Description = $2_qSNz_PG_SMC_Q386]

1. Both Statement | and Statement U are correct/wem | &z (| 8= =t £ [Option 1D = 2773]

2. Both Statement | and Statement U are incorrect/=sem | siiz || simt swwr £ [Option 1D = 2774)

3. Statement | is correct but Statement W is incorrect/wem | =28t £, Fosg wemr |l semer £ [Option 1D = 2775]
4, Statement | is incorrect but Statement Il is correct/em | ormr &, osgwemr || s & [Option 1D = 2776]

Correct Answer :-
& Both Statement | and Statement [l are correct/em | iz || S5t =@ & [Option 1D = 2773]

87) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: The sex ratio in India has been adverse to women.
Reason R: Strong male child preference and female foeticide are highly prevalent in India.

In the light of the above statements, choose the correct answer from the options given below

ofiY 31 e Bw s B | ue afinpera (A) @ wu a frfiaa & @ gaa sus @ (R) S =a # ¢
sfirperm (A) @ 9ea d Risnoura afgani & Yo wer g

oIl (R) ; asd @ Son & yac sTol AR Tl YUErI Iz 3 SOGB4 3 Yook 34 &
IURITE Bl  ACkD 3, ol [ew sre fiwcdl 3 31 F=2 ST 30z ®f gad HifHu |
[Question ID = 695][Question Description = $2_qSNz_PG_SMC_Q387]
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Both A and R are true and R is the correct explanation of A/{A) dfiz (R) St =&t £ 4fiz (R), (A) o7t 58t =m==n £ [Option 1D = 2777]

Both A and R are true but R is NOT the correct explanation of A/ (4) iz (R) Ziei wdt & uemg (R), (A) 5 28t s ot 2 [Option 1D = 2778]
Ais true but R is false/ (A} =t & woag (R) =t =dt & [Option ID = 2779])

A is false but R is true/(A) =t o 2 ozsgg (R) =@t £ [Option ID = 2780]

e it R

Correct Answer :-
e Both A and R are true and R is the correct explanation of A/(A) 3z (R) =it = £ iz (R), (A) &t 58t momen & [Option 1D = 2777]

88) Given below are two statements:
Statement |: Life expectancy at birth has continued to increase globally over the years.

Statement |l: The increase has been more marked in developed regions of the world than in the less developed regions.

In light of the above statements, choose the most appropriate answer from the options given below

ofl §t west Rusre 3 :

erot - | 1 foredt ot & dftaws Faz ar son @ wwE Shaar geaen # aenare ofy; 58 3

wepot - || @ Brea @ ResBra &gl i soa RoBra &gl & siden a5 gfy siftns Swrar o) fhocd 3
IO wUel OF e 3, Sikl o s1e Resedl 3 A A yagrr 3w w1 a6t Sifsre :
[Question ID = 696][Question Description = $2_qSNz_PG_SMC_Q88]

Both Statement | and Statement Ll are correct/eem | Sz || St =@ & [Option |D = 2781]

Both Statement | and Statement Ul are incorrect/=seme | Sz || Sl st € [Option ID = 2782]

Statement | is correct but Statement Il is incorrect/owa | 32 £, fseg wem || siem £ [Option 1D = 2783]
Statement | is incorrect but Statement Ul is correct/@em | sier & , Roog e || =8 € [Option 1D = 2784]

T e

Correct Answer :-
e Both Statement | and Statement Ul are correct/@erm | 3 || S 7@ & [Option 1D = 2781]

89) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: Undernourished children are more susceptible to lead.
Reason R: Their bodies absorb more lead because other nutrients are lacking.

In light of the above statements, choose the correct answer from the options given below

ot < wseror Re 51¢ 3 ¢ v affbrwert (A) @ wu 3 Rifaa 3 d gaer sad wwr (R) & wa i
siftrcserot (A) @ sreadifter aedl @t A 3w B aftres sneiast wdl 3

orvr (R) : Forcd 9z 3R S el ool § aeiRy sre dies aodl Bt ot A §

IR Wil B ATeiks 3, oI Y o1e Rvedl # A IR JUgrs 3 B a96 BRI ;

[Question ID = 697][Question Description = $2_qSNz_PG_SMC_Q89%]

Both A and R are true and R is the correct explanation of A/(A) 3z (R) ==t =28t 2 3z (R), (A) & =t =oe=n € [Option 1D = 2785]

Both A and R are true but R is MOT the correct explanation of A/ (A} ditz (R) 35 58 & usagg (R}, (A) & 32 sa=n wdf & [Option 1D = 2786]
A is true but R is false/ (A} =2 & uiegg (R) =&t =t € [Option ID = 2787]

A is false but R is true/(A) 3 ot 8 oz (R) 38t € [Option ID = 2788]

a2

Correct Answer :-
# Both A and R are true and R is the correct explanation of A/(A) 3fiz (R) St 2@t & 3tz (R), (A) ot 2idt =m==n & [Option D = 2785]

90) Given below are two statements:

Statement |: Slow sand filtration is an old-fashioned, outdated method of water treatment that has been completely
superseded by rapid sand filtration.

Statement |l: The physical, chemical and bacteriological quality of filtered water in a slow sand filter are not satisfactory.

In light of the above statements, choose the correct answer from the options given below

oik) €1 wee ke s & ¢

el - | 1 AlgH arg Prxice s giigmso O Qe kit E Brewer vum g awg Br=ice sm @ aee o o1 &
wead - || : afew g Rreica 3 fr=ifea s & sifeee, smmbir iz shaffre s FAntags @l &kd &
IRITE WYUG! @ ACIRD 3, ikl By se Roodl # 31 393 JuRprr 397 1 a9l Hifsg

[Question ID = 698][Question Description = $2_qSNz_PG_SMC_Q90]
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Both Statement | and Statement Il are true/sser | 3fiv || Sl 34 & [Option D = 2789]

Both Statement | and Satement Ul are false/seam | &z || 3 s & [Option ID = 2790]

Statement 1 is true but Statement Il is false /e | ava & , FBpog we@ || smew @ | [Option 1D = 2791]
Statement 1 is false but Statement W is true/wem | sprg & |, fbeg e || s € [Option (D = 2792]

N S PO L ey

Correct Answer :-
e Both Statement | and Statement Ll are true/mem | 3iz || Sl 7idt & [Option 1D = 2789]

Topic:- SMCH_SHAAN_NOVZ1B

1) Read the given paragraph and answer the question that follows

Mr. ABC is aged 35 years and resides in a coastal village. He developed a high-grade fever with chills & rigors. An ASHA
worker visited him, took a blood sample and prepared a slide with blood film for micrescopy. The slide was sent to PHC,
Meanwhile, the ASHA worker also did a Rapid Diagnostic Test (RDT). The slide was stained and examined at PHC. Both
procedures revealed the presence of P. vivax, The ASHA worker informed of the report to the patient and referred him to
the PHC for further management. She advised other family members about various protective measures and provided them
Insecticide Treated Nets (ITNs) to be used while sleeping. She also did indoor residual spraying, with help of other health
workers, in that household and surrounding ones.

forraiferfian srerior &1 tanegds ufen sz Ru s gea &1 30w i |

131, wefizdt &1 amgg 35 add 2 3T 4 v deardl stia 3 Taa 2 502 gt ol dadidl & WY OE gER o SR W 3ol (ASHA) oriakdT sord oz
Ugell, 336 <1 ool [eman afiz spgaciofot 3g o &l uva @ A1 wp FaEs AR Ren  Forss ©f greains Fared @ (divaeil) ssnesrn 531 da
ATem of 3l g7 oleriore udigor (andldl) foar Feres oI 3era oz tt war 2l of 33d! ofie & 3¢ SYell yiapsil i di. tadaa &i sufrafa ai
arf arron of Fraid ot yymen AR W & v APl @ gEem @ e 363 dieedt A R sa6 afvar © e acwdl @) Riftssr gearewes Farl @
Fed = iz A TR gElel T @ [ dlcarere daiiin arowior (305dive) #2391 ®2F 3300 3 12 3 302 usia © = 3 3ea
FarreAiHl B HERE 3 a3 4@ afkz aafire - fissea fse

Which one of the following vectors is most probably involved in this disease transmission?
fBremferf3oa 3 3 @ior - a1 Asrsa s A5t D gar A Hffrs wha afafte 37

[Question ID = 699][Question Description = S2_qSNz_PG_SMC_Q%91]
1. An. fluviatilis/ e wrenftRmm
[Option ID = 2793]
2. An. sundaicus/te. DA
[Option ID = 2794]
3. An culicifacies/vm ayfafindda

[Option ID = 2795]
4. An. Philippinensis/te. fisfeftotza

[Option ID = 2796]

Correct Answer :-
e An. fluviatilis/Va wgfenfirs
[Option 1D = 2793]

2) Read the given paragraph and answer the gquestion that follows

Mr. ABC is aged 35 years and resides in a coastal village, He developed a high-grade fever with chills & rigors. An ASHA
worker visited him, took a blood sample and prepared a slide with blood film for microscopy. The slide was sent to PHC.
Meanwhile, the ASHA worker also did a Rapid Diagnostic Test (RDT). The slide was stained and examined at PHC, Both
procedures revealed the presence of P. vivax, The ASHA worker informed of the report to the patient and referred him to
the PHC for further management. She advised other family members about various protective measures and provided them
Insecticide Treated Nets {ITNs) to be used while sleeping. She also did indoor residual spraying, with help of other health
workers, in that household and surrounding ones.

forraferfiae srerior o saregda ufew iz Ry sre gea o1 3az e :

far. wellafl ot oy 35 ad B siiv & v aeedl o 3 v 368 St offv Do o aver 951 gEnT oo sk oo sierr (ASHA) wrkasd! sorad ae
ugdl, T7b oI olgetl fern 1z Fgaciiiot &g b &l Uz & A1 G Es dAR b Foss ©f grabie e 9 (divasdl) dsnsmar s dk
agn ot 4t gar Siciferes aftaor (3edA) Rear Toes ot Rm wi ff wa =t & sadt st O s Qe gRgrmat # A, Ridaw & safBaftr ad
31 39l of Rrdid @bt symen 3=l @l & 3z arst @ geieet o fow 308 dlueril oist e w3el ul¥ar & srca sl @l ool Jeancars 3url @1
I e stz FHR J9R [EET Sl @ i diconers daniia ssiiorl (ansdiun) gaa &g 390 39 a3 & 30z usia @ a3 3 s
Farrezreptdl B warmT A a3 @ 35T sraline - Wswr Rear

Which staining material is used for the slide in the given case?
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e arg 3oizzer A Wiar A Forws ucrel @ gier Bear snar 87

[Question ID = 700][Question Description = $2_qSNz_PG_SMC_Q92]
1. Hand E/ea sz 5

[Option ID = 2797]
2. GIMSA/Bran

[Option ID = 2798]
3, JSB/awerh

[Option ID = 2799]
4. IN/SS w

[Option ID = 2800]

Correct Answer :-
o HandE/eerdizs

[Option ID = 2797]

3) Read the given paragraph and answer the question that follows

Mr. ABC is aged 35 years and resides in a coastal village. He developed a high-grade fever with chills & rigors. An ASHA
worker visited him, took a blood sample and prepared a slide with blood film for microscopy. The slide was sent to PHC.
Meanwhile, the ASHA worker also did a Rapid Diagnostic Test (RDT). The slide was stained and examined at PHC, Both
procedures revealed the presence of P. vivax. The ASHA worker informed of the report to the patient and referred him to
the PHC for further management. She advised other family members about various protective measures and provided them
Insecticide Treated Nets (ITNs) to be used while sleeping. She also did indoor residual spraying, with help of other health
workers, in that household and surrounding ones.

frafilian seie @) samgde ufge siiz Ry sm ges o sz St .

for. wedieft bt areg 35 ond & ofiz 4 vos acaddl onia # e & 3628 Tt afie ot @ e de IR o SR ue amell (ASHA) wriodl 3o a2
ugdt, b @I ool fern afiz FgacidicT aq 3o &t U @ AU e FAIES GAR [ TonEs o Qe e o (divesil) fensen s da
aon o 9t gar SicifEes aftaor (3eAA) Roar oss o iRm i ff wa = & smd @i 6 s Qe gz # A, Ridawn & saBaltr ard
315 31911 of f¥ulé &1 spmen 351 @I &) iz 3l & gders @ fom god dlueedl o= e 331a al¥ar & sea seel ol [Aifos Feaeas Jurl o1
o e stz R 3R R Sl @ o diconers danita sesiiorl (ansdivo) gaan &g 390 39 73 & 30z usia @ a3 3 s
FarroiRIl bt TerRm # 1B @ 35 st - Brswm Rean

Which level of prevention is suggested by "use of insecticide treated nets(ITNs)by family members"?
"afyar & Al TRI hIcaeRs Al Fcociorl (303 €1 ool) w1 gRle1 ' IRpa B b w3 @I JRm o 8?

[Question ID = 701][Question Description = $2_qSNz_PG_SMC_Q93]
1. Primordial /qrfire

[Option ID = 2801]
2. Primary/qriErr
[Option ID = 2802]
3. Secondary/igriers
[Option ID = 2803)
4. Tertiary/erfms
[Option ID = 2804]
Correct Answer :-
® Primordial /gefénm
[Opticn ID = 2801]

4) Read the given paragraph and answer the question that follows

Mr. ABC is aged 35 vears and resides in a coastal village. He developed a high-grade fever with chills & rigors. An ASHA
worker visited him, took a blood sample and prepared a slide with blood film for microscopy. The slide was sent to PHC.
Meanwhile, the ASHA worker also did a Rapid Diagnostic Test (RDT). The slide was stained and examined at PHC, Both
procedures revealed the presence of P. vivax. The ASHA worker informed of the report to the patient and referred him to
the PHC for further management. She advised other family members about various protective measures and provided them
Insecticide Treated Nets (ITNs) to be used while sleeping. She also did indoor residual spraying, with help of other health
workers, in that household and surrounding ones,

formteian amerion @1 taegde ufse iz Ry s gear o g 8o |

fo1. welieft 5t arg 35 ad 2 3fiz @ vop acad! a1a #d T E 3o Pt iz dasdt @ awer s gEar an srn o el (ASHA) oriaed! sad a2
Ugzit, b oI oHloh [er afiz FgAcidior &g b Bt uzd @ A1 o 1T da1z fkpan Tenss @t Yrefins warrsa dig (divazil) den sen s die
3men of Mt gt sicier WHiamwn (31SIE) fbmr Foiss @1 Mm@ Ol wa #1 of Ferb! s ot a8 el gRpzmnail 4 Ol Rdas & sul-afa o
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arF amren ot Rl ot yyoen AR @t & i APl @ gaers © e 368 dleend Ao R 36t afvan @ s acyal o) Riffcs Jaicas Jaral o
a4 = iz A T gElel T @ [ Bloarere daiiin aowior (30sdivn) #2391 &2F 3300 3 82 3 302 usia © =3 3 3ea
Tareeeotial & wermar A az @ 3icy Aaldree - som Roar

Which principles of primary health care are followed in the diagnostic procedure of the given case?
A. Equitable distribution

B. Community participation

C. Intersectoral coordination

D. Appropriate technology

Choose the correct answer from the options given below:

few are 3eiser @6t Sicifers gfiyer 3 quafics Farsew Tamna @ wier -3 Broial o ozier 8en 3 7
A. wgRya Raver

B. iR selisrt

C. 3z - &l s

D. 3Rr gisifErit

ofl B =10 Repedi A A wf s gl ¢

[Question ID = 702][Question Description = $2_qSNz_PG_SMC_Q94]
1. Aand B only/®am A#R B

[Option ID = 2805]
2. Band C only/@as B diz C

[Option ID = 2806]
3. CandDonly/wma C iz D

[Option ID = 2807]
4, Aand Donly/@agAdiz D

[Option ID = 2808]
Correct Answer ;-
o AandBonly/damAdRB
[Option ID = 2805]

5) Read the given paragraph and answer the question that follows

Mr. ABC is aged 35 years and resides in a coastal village. He developed a high-grade fever with chills & rigors. An ASHA
worker visited him, took a blood sample and prepared a slide with blood film for microscopy. The slide was sent to PHC.
Meanwhile, the ASHA worker also did a Rapid Diagnostic Test (RDT). The slide was stained and examined at PHC. Both
procedures revealed the presence of P. vivax. The ASHA worker informed of the report to the patient and referred him to
the PHC for further management. She advised other family members about various protective measures and provided them
Insecticide Treated Nets (ITNs) to be used while sleeping. She also did indoor residual spraying, with help of other health
workers, in that household and surrounding ones.

frafilan =i @ tamgde ufge siiz Ry sm gesr o 3z St .

for. wediett &bt areg 35 ond & ofiz 4 v acadl o1a # a0 & 3628 9t afie ohdt @ e de R an SR O el (ASHA) wriodl 3o @r
ugdt, b @I oo fern afiz FgaciiieT aq oo &l U @ FIY e FAIES GAR [ Tonss o Qi e o (divesdl) fensen s da
31N of it A Sieiorm Wism (3Sidl) Rear soirss @ WM o It wa 3t of 3orh! stim 1 =i S1eil giRpameil d ff. Rdasr 6t sufFafe af
315 31911 of feulé & spmen 251 @I &) iz 3l & yders @ fem god dluedl o= e 331a al¥ar & siea seel ol [Aifos Feeeas Iurl o1
Fana e aiiy S A9R galet o @ fre Sleomerr At ool (ansdve) #ar wid a6l 37 a3 # i aSiw © a3 # sea
Fanren il Bt Herm 3 m @ JicT aafire - sl fiem

Which of the following agents can be used for indoor residual spraying in the given case?

A. Malathion

B. Lindane

C. Abate

D, Deltamethrin

Choose the correct answer from the options given below:

e a1 3cenvl 3 T @ dic? aaldne swr & R refafiaa # 3 o A waic o1 gt Rear o acwan & ?
A, HAcrrerrra
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B. Rida
C. gac
D. Zcer Afder
i 2w a1 faascal 3f 2t 718t 3z gol ©

[Question ID = 703][Question Description = $2_qSNz_PG_SMC_Q95]
1. Aand Bonly/@ao Als B

[Option ID = 2809]
2. BandConly/sam C sis E

[Option ID = 2810]
3. Cand D only/@aa C iz D

[Option ID = 2811]
4, Aand Donly/saam Ad= D

[Option 1D = 2812]
Carrect Answer :-
& AandBonly/@am Az B
[Option ID = 280%]

Topic:- SMCH_SHAAN_NOV21C

1) Read the paragraph and answer the question that follows

Mrs ABC visited a PHC with her two kids aged 18 months and 1.5 months respectively. The mother complained that the
elder child was having moderate fever, sneezing with nasal discharge, red eyes, diarrhoea and rashes on the body for the
last 3 days. The younger child also had sneezing but no other symptoms, for the same duration. On examination, the rash
was maculopapular; started behind the ears and then had spread on the face and it extended down the body gradually.
Oral examination showed small, bluish-white spots on a red base opposite to the lower second molar teeth. The eye
examination revealed triangular yellow foamy spots on the bilateral bulbar conjunctiva. The examination of younger child
did not show any significant finding. Both kids had not have received any vaccines to date but the mother allowed only one
vaccine at a time to each child. The elder kid was given treatment including an age-appropriate dose of vitamin A. On
investigation, 10 children with a similar presentation were found in the same village. For the same duration, there was not
a single case reported last year,

forraiferfianT srerior @1 taneigds ufew aiiz Ry s g &1 30z s

DI afaen aruell St Harer frerb! Ay arer: 18 a1z aiiz 1 e 5 a1 8, & wmy grafdne zare @ o 37 wifden & fororaa ot & &t dara
1 fiea dia el A s gER, B ik Arp A el 3061, 3iix o avl am 3, R 3 @@ ol 3 oo usel ©f Jeen & 33 siea
34l Fdre @1 ot P am 2 N fveq @1F e dAaevl fiepne adl en wisr # urn srn ke oo gga: eftcelnr o1 Adyed aE ol &
D A 91 g3 AT aroknT s o7 Ber Srn AR o6l oet: oty @ Bradl sueT aw Bar srar I wdlgrer aver a3y g o By Brad ot odas g
@ AREr 2321 3 enféran aw ananz gz B, oy, 90 oer § A wdtsm A uar g 6 fguftds acar oafiear uz did @@ e e §
B8 Harel 3 B el ordtor ol e v Sl 3 3 ezl it &= o st &1 sl o ©1¢ A1 @l 12 sr o fisey aif of Yk ae &l
oo AR 3 @ U St 30t Wbt st & oft et Fiemer @t 3wl ARy @ argeu faeride v B s AlRa Juar Ko SR e s @ agaRg
32l o1ia @& ¥ acdl A v Aard [ufy af =1F 33l aaf?r d o ad o oft Fredl 6 e ol Tt

What is the most probable diagnosis?
afersianey forerol o 8 :

[Question ID = 704][Question Description = $2_qSNz_PG_SMC_Q96]
1. Measles/@zaH

[Option ID = 2813]
2. German measles /3 A=

[Option ID = 2814]
3. Chicken Pox/fResa dies

[Option ID = 2815]
4, Meningitis/#Abrasika

[Option ID = 2816]

Carrect Answer :-
* Measles/zEa
[Option ID = 2813]

2) Read the paragraph and answer the question that follows

Mrs ABC visited a PHC with her two kids aged 18 months and 1.5 months respectively. The mother complained that the
elder child was having moderate fever, sneezing with nasal discharge, red eyes, diarrhoea and rashes on the body for the
last 3 days. The younger child also had sneezing but no other symptoms, for the same duration. On examination, the rash
was maculopapular; started behind the ears and then had spread on the face and it extended down the body gradually,
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Oral examination showed small, bluish-white spots on a red base opposite to the lower second molar teeth. The eye
examination revealed triangular yellow foamy spots on the bilateral bulbar conjunctiva, The examination of younger child
did not show any significant finding. Both kids had not have received any vaccines to date but the mother allowed only one
vaccine at a time to each child. The elder kid was given treatment including an age-appropriate dose of vitamin A. On
investigation, 10 children with a similar presentation were found in the same village. For the same duration, there was not
a single case reported last year.

Rrrafalan =i @) tamgde ufge siiz Ry sm ges o 3= St .

DIz AR 3eit 31 Fdmt Berb! g @wer: 18 #i1s iz 1 me 5 Ba 8, @& w1y yrabep e @ig a1 3 #Aflgon B Brorm o & a5t Fama
@t fisa dia 6l A o grar, die A ars 2 ueh siet, Jfm o1 avf am 3iq, it diz g3 oz 3 opa uscl & Jar=n 330 Sl
SAd s Y 1 s an ¥4 ot o o1 e Hargrer ferarer oif en adtgrer Jf g sen B gww g effconar e wdgyw ag wol ©
D A 9 gan 3ile AN <6 U el o1 37 of6l: 96l ¢Riv @ formm 1eT s Bd o dig WIS @eel U udn ool Re Hrac g ocko ga
& AR 233 3 enférar awy anenz az 82, &), @A el § o udlsmm A uan e s fpuiltds acar oafacar uz dia o Az a<a &
B¢ Fme d T Wk arilsr aff Rand e Sieil 6 3 Roelt sit = @1 e &6 ol o ad Skor st B2 srn o Roog af & yedo a=a @
U a3 Daa Ul ol 2o &t sgat & oft adt damer w1 sk ARy & gy faeiiier v B maes Afza suanre fRear s en Sifa @ sk
ol oTig @ o el A oo wener Rafer o i w2 srafr A wa ad vos »f sneren &t aré sist Rt

The single most preferred age-appropriate vaccine for the younger child is
BY& Faror © e walfre i sy - seEea v g Sor §

[Question ID = 705][Question Description = $2_qSNz_PG_SMC_Q97]
1. MR (Measles - Rubella)/wm. sz, (dlsies - =3cm)

[Option ID = 2817]
2. BCG/4t i i

[Option ID = 2818]
3. Pentavalent/dcrick

[Opticn ID = 2819]
4. PV (Injectable Polio Vaccine)/ans & ot ($rreaa miferd da=iiar)

[Option ID = 2820]

Correct Answer :-
® MR (Measles - Rubella) fen. ame. (disms - =)
[Option 1D = 2817]

3) Read the paragraph and answer the question that follows

Mrs ABC visited a PHC with her two kids aged 18 months and 1.5 months respectively. The mother complained that the
elder child was having moderate fever, sneezing with nasal discharge, red eyes, diarrhoea and rashes on the body for the
last 3 days. The younger child also had sneezing but no other symptoms, for the same duration. On examination, the rash
was maculopapular; started behind the ears and then had spread on the face and it extended down the body gradually.
Oral examination showed small, bluish-white spots on a red base opposite to the lower second molar teeth. The eye
examination revealed triangular yellow foamy spots on the bilateral bulbar conjunctiva. The examination of younger child
did not show any significant finding. Both kids had not have received any vaccines to date but the mother allowed only one
vaccine at a time to each child, The elder kid was given treatment including an age-appropriate dose of vitamin A, On
investigation, 10 children with a similar presentation were found in the same village. For the same duration, there was not
a single case reported last year.

frafelian =i @) tamgdoe ufge siiz Ry sm gesr o 3z St .

DIz AR 3elt 81 Fdmt Berb! sy @pier: 18 #is iz 1 e 5 Ba 8, @& w1y yrabep aea @ig a1 3 #Afldan o Brorm ot & a5t Fama
@1 fiusd o1 Rell 21 o1 gaar, S iz o 3 ureh arel, i@ o1 vl am 2, afiene sz g orflz 3f aow use! &I warrn 8 7=l diwer
gl Fami @l 91 P an I < Roog @i aca dasmt Reeme ot ean wWigon 3 uri sro Ke o e eftcelr a1 wdged as ool @
IS 21 9 g dilz v f6) U3 B IR 17 9lol: 9mel: 9rilz & ol eI b Hal R djg WISV ol U2 Ul el o5 former 2318 w/ie da
a¥ wrAcrard Bra # enferar ardy snens oz 81T, ofid, g oFr ¥ G e A am gor B Haftds gear geafacar av A8 oer geor eed §
S Fare d B Arele ardler oidf Rand 2w g1l 6 3 el ot o= &1 s 6l it o @1F Aor &8t w0 srn o fsoqg &t of g a=) @t
U AR 3 I U ST ol I arggaid &1 oft &t Farer @1 33dhl A & aloesu facifier u &t e Afda suanz e SR o St & O
32} o1ia @ oA acdl A v ware Rl arf =1 g3l amafin # o1 o wo off sl B Rrdld ot Rt

The lesions revealed on oral examination are:

35 W Wiz @ vt gfdm Rcpferi § 2

[Question ID = 706][Question Description = 52_qSNz_PG_SMC_Q98]
1. Herald's spot/2wws 1 aear

[Option ID = 2821]
2. Koplik's spot /=i o aem

[Option ID = 2822]
3. Rose spot/3= e

[Option ID = 2823]
4. Bitot's spot /e =1 y=m

[Option ID = 2824]
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Correct Answer :-
e Herald's spot/2ws o awar
[Option ID = 2821]

4) Read the paragraph and answer the question that follows

Mrs ABC visited a PHC with her two kids aged 18 months and 1.5 months respectively. The mother complained that the
elder child was having moderate fever, sneezing with nasal discharge, red eyes, diarrhoea and rashes on the body for the
last 3 days. The younger child also had sneezing but no other symptoms, for the same duration. On examination, the rash
was maculopapular; started behind the ears and then had spread on the face and it extended down the body gradually.
Oral examination showed small, bluish-white spots on a red base opposite to the lower second molar teeth, The eye
examination revealed triangular yellow foamy spots on the bilateral bulbar conjunctiva. The examination of younger child
did not show any significant finding. Both kids had not have received any vaccines to date but the mother allowed only one
vaccine at a time to each child. The elder kid was given treatment including an age-appropriate dose of vitamin A, On
investigation, 10 children with a similar presentation were found in the same village. For the same duration, there was not
a single case reported last year,

formteian amerion @1 taegde ufse iz Ry s gear o g 8o |

i Alden sl 4 Fivm bt g Gaer 18 aiE 2 1 71 5§ Ba &, & amme qrerfdre ramea dig o 3w afgon & forerm «ff &5 adt Fimme
o1 frerdt eiter Rail A sowr genz, Biw siiz s 3 arelt sual, s o gl aa 8k, sferne i @ ol 3 o asat Ot Tenen & w2t Shier
& Fam @l 91 P an I < Roog @i ac dasmt Repne ot e wWigon 3 uri sro Ke o g eftcellr o wdged as @l @
i 3 9pF gan iz deauK] A8 a7 Bel s iz 9ral: gr1ak: 9rilz & foraal HPI o Bl IR dfs Udtgior ool Uz U el o5 forerey gt ado &a
o ARmEK 331 37 oot ar ananr uzT 81, ofld, S oer § o udzmn A um oo [ uifdo acar wafdcar us dic oeEr Jcer g §
S Fare d ®F Arele ordter ol Rand f2v g1l 6 3 el ot o= &1 s 6 it o @1F Ao @8t e srn o Rsoqg af of g a=) @t
ooy AR 3 Waa g S Y61 B ot & it ad) daer wr sadht s D srersa Rrefier ¢ @B wmeer afda oo Ry srr en sk @ oo
32l ol @& o acdl A v Aard [rufy af =1F 33l araf?r d o ad o oft Fredl 6 Rdd ol Tt

The disease in the village can be termed as:
a1 # foeEdra 211 ot forgafcaa #d 3 fipadbt s & o ot 8 ¢

[Question ID = 707][Question Description = $2_qSNz_PG_SMC_Q99]
1. Endemic/vs2fre (Fensier dmdt)

[Option ID = 2825]

2. Epidemic/ei@ier (smmamt)
[Opticn ID = 2826]

3. Pandemic/d2fnp (AFaT aemRd)

[Option ID = 2827]
4, Sporadic/=iiiEy (warierr)

[Option ID = 2828]
Correct Answer -
e Endemic/vedfinn (Tl demt)
[Option ID = 2825]

%) Read the paragraph and answer the guestion that follows

Mrs ABC visited a PHC with her two kids aged 18 months and 1.5 months respectively. The mother complained that the
elder child was having moderate fever, sneezing with nasal discharge, red eyes, diarrhoea and rashes on the body for the
last 3 days. The younger child also had sneezing but no other symptoms, for the same duration. On examination, the rash
was maculopapular; started behind the ears and then had spread on the face and it extended down the body gradually.
Oral examination showed small, bluish-white spots on a red base opposite to the lower second molar teeth. The eye
examination revealed triangular yellow foamy spots on the bilateral bulbar conjunctiva. The examination of younger child
did not show any significant finding. Both kids had not have received any vaccines to date but the mother allowed only one
vaccine at a time to each child. The elder kid was given treatment including an age-appropriate dose of vitamin A. On
investigation, 10 children with a similar presentation were found in the same village. For the same duration, there was not
a single case reported last year,

forraifertian srerior &1 taneigds ufen aiiz Ru s g &1 30w e

DI afaen auoll <t Halel frerb! 2wy arer: 18 a1z siiz 1 we 5 a1 8, & wme Qrafdne zarze @i af 37 wifden & fororaa ot & &t dara
i fiea e &6l A s gEaR, B iz arp 3 el 306, 3iim o avl am 34, iR i @@ ol 3 oo usel ©f e & 331 siea
234l FdrE @1 ot Do am B N fooq o1F o dAaevl fieene adl en wisor 3 urn srn ke oo ggaa: eftcein a1 Adyed aE ol &
B A 913 g3 AT aroting AsT OF Ber S AT o6l oet: oty @ forad sueT A o srar ¥ adlgrer ava ur gan o By Brad ot odas g
o ARmEK 331 3 oot arn anane uzT 81, ofld, S oPT § o udzm A um oo [ uifdo acar oaftea us dic o1 Jcer e 8
B Farel 3 ©F mele ordflor ordl Reard R JI6 3 2t szl ot &= @1 aner &Y ardha o & Aot adf Ran sr o fseg 3f o e az &
o AR # @0 U T 3ot Wt st & oft et Fiemer @t 3wl ARy @ argeu faetiier v B s AlRa Juar Ko s an s @ gk
32l o1l @& ¢ acdl A v Aard [rufy ad o1F 33l amaf?r d o ad o oft Fradl 6 Rdd ol Gt

The required suggested dose of vitamin A for the older child:
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Ficslora wdt Hars & e Rredder v & it ofda s 3

[Question ID = 708][Question Description = $2_qSNz_PG_SMC_Q100]
1. Single/ww

[Option ID = 2829]
2. Two/=1

[Option ID = 2830]
3, Three/d=

[Option ID = 2831]
4. Four/fzmz

[Option ID = 2832)
Correct Answer :-
® Single/mr

[Option ID = 2829]

Topic:- GP_Set8_A
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1) The table below presents the unit slaes of the ‘ZZ999 Motorcyle in six European Countries
over a s1x month period from January — 2020 to June 2020. These motorcyeles are imported

into each country by a main dealer. Based on the data in the table, answer the question :

Country — wise Sale of Motorcyles

Country | January | February | March | April | May | June | Total
Germany 34 47 45 54 56 60
UK 40 44 36 47 47 46
France 37 32 32 32 34 33
Belgium 14 14 14 16 17 14
Spain 29 29 28 21 29 31
Italy 29 24 24 26 25 23
Total

What percentage (%) of the overall total was sold to the German importer?
(1) 22.0% (2 256.4%
3) 25.8% 4) 24.6%

Frefoatea wmoft sF=d 2020 ® S| 2020 9% 6 =7 "7 #i @A 9 7 TOAE = g ZZ999" AR
TEtea Hit vew e (3fe o) =1 gt 21 3 Aewmted R g foea (SR) % g o 39 8
AT =1 St 21 Gl § Tegd 31iHs) = STER T 9% 1 3ot i

SM-am AT 1 e

5 Al | el |9 | e | 0t | e | g
ST | 84 | 47 | 45| 54 [ 56|60
T %
AL

40 44 | 36 | 47 |47 |46
37 32 | 32| 32 (3433
sicagy | 14 14 | 14| 16 (17|14
A 29 29 |28 31 | 20|31
Teelt 22 24 | 24| 26 | 25|23

ST STTATaRGl i Sl TS ATCTETS iRl = el NS o 2 ¢

1) 22.0% (2) 2b.4%
(3) 25.8% (4 24.6%
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[Question ID = 2639][Question Description = Q1_GP_SET8_S1_5Shift2]
1. 1 [Option ID = 10553]
2. 2 [Option ID = 10554]
3. 3 [Option ID = 10555]
4, 4 [Option ID = 10556]

Correct Answer :-
a 1 [Option ID = 10553]

2) The table below presents the unit slaes of the ‘ZZ999" Motoreyle in six European Countries
over a six month period from January — 2020 to June 2020. These motorcycles are imported

into each country by a main dealer, Based on the data in the table, answer the question :

Country — wise Sale of Motorcyles

Country | January | February | Mavch | April | May | June | Total
Germany 34 47 45 54 56 60
UK 40 44 36 47 47 46
France 37 32 32 32 34 33
Belgium 14 14 14 16 17 14
Spain 29 29 28 31 29 31
Italy 22 24 24 26 25 23
Total

What percentage (%) of the overall total of motorcycles was sold in May?
(1) 24.1% (2 25.6%
(3) 27.1% 4 17.8%

Frefetga Aol St 2020 @ S 2020 7% Hi 92 A% fi @i § T A o g ZZ999° iR
TEtea #t vew e (g o) = oot 21 3 At R ge foea (3R) % g o 3w
AT =1 St 21 grofi § yega $1iHs o SITUR W 93 0 Iat g

Z9-am HETETSthe i {5l

&m S | Bt | o | ot | mE | o | 3
ST | 34 | 47 | 45| 54 |56 [ 60
7% | 40 | 44 | 36| 47 |47 |46
FTH 37 | 32 | 32| 32 |34]33
Afes=m | 14 | 14 | 14| 16 |17 14
w | 20 | 29 (28 31 |29(31
Teelt | 22 | 24 [ 24| 26 | 2528

W e A= TS T A uiowa wm E v
a  241% @) 25.6%
(3) 27.1% 4 17.8%

[Question ID = 2640][Question Description = Q2_GP_SET8_S51_5Shift2]
1. 1 [Optien ID = 10557]
2. 2 [Optien ID = 10558]
3. 3 [Option ID = 10559]
4. 4 [Option ID = 10560]

Correct Answer -
e 1 [Option ID = 10557]

3)  The table below presents the unit slaes of the ‘ZZ999" Motorcyle in six European Countries
over a s1x month period from January — 2020 to June 2020. These motorcyeles are imported
into each country by a main dealer. Based on the data in the table, answer the question :

Country — wise Sale of Motorcyles

prepp
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Country | January | February | March | April | May | June | Total
Germany 34 47 45 54 56 60
UK 40 44 36 47 47 46
France 37 32 32 32 34 33
Belgium 14 14 14 16 17 14
Spain 29 29 28 31 29 31
Italy 2 24 24 26 25 23
Total

Which month showed the biggest increase in total sales from the previous month?
(1) February

(3) April

Frefafaa Al = 2020 o 59

2

March
(4) May

STl =Rl el &1 Gl § Tega SRS % STUR T YYA ol SO G

mi-am AzEsfper i fah

& S | Bt | O | ot | mE | o | 3
ST | 34 | 47 | 45| 54 |56 60
J% | 40 | 44 | 36| 47 |47 |46
FTH 37 | 82 | 82 | 32 [|sahss
dfeeem | 14 | 14 | 14| 16 | 17|14
wg | 20 | 290 |28 31 |29(31
geet | 22 | 24 | 24| 26 | 25(28
P

form s A focht froett 7 it et 6 gomn 3 wifes gfg T=idt 27
(2 W
@ =

1) w&h
(8) ara

[Question ID = 2641][Question Description = Q3_GP_SET8_51_Shift2]
1. 1 [Option ID = 10561]
2. 2 [Option ID = 10562]
3. 3 [Option ID = 10563]
4. 4 [Option ID = 10564]

Correct Answer :-

1 [Option ID = 10561]

4) The table below presents the unit slaes of the ‘ZZ999 Motorcyle in six European Countries
over a six month period from January — 2020 to June 2020. These motorcyeles are imported
into each country by a main dealer. Based on the data in the table, answer the question :

In the month of February, what percentage (%) of the monthly total was sold to the biggest

Country — wise Sale of Motorcyles

2020 7% HI Tz Wg H @Y T Tz FHE T G ZZI9Y" HiR
Etra # vew e (3t o) =1 oot 21 3 aewmtee B ge foea (3eR) % g o 39

Country | January | February | March | April | May | June | Total
Germany 34 47 45 54 56 60
UK 40 44 36 47 47 46
France 37 32 32 32 34 33
Belgium 14 14 14 16 1 14
Spain 29 29 28 31 29 31
Italy 22 24 24 26 25 23
Total

prepp
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HNPpOrLer;
1 24.7% 2 23.1%
B  36.5% @ 51.1%

Frefotga Aol S 2020 W S 2020 7% Hi 92 A% fi @t § o7 THE o g ZZ999" HieR
Etra Ht vew et (3 o) = oot 21 3 Aot R g foea (3R) % g o 39
ST =1 St 21 groft § yeda $1iHs o STUR W U3 0 Iat g

Sw-am AeEstHern i foh

&= el | Tl | O | o | W [ 9m | F
ST | 34 | 47 | 45| 54 |56 60
g% | 40 | 44 | 36| 47 |47 |46
FTH 37 | 32 | 32| 32 |34]33
dfesmm | 14 | 14 | 14| 16 | 17|14
w | 20 | 29 28| 31 |29(31
geet | 22 | 24 | 24| 26 | 25(28

kT
el g T G9Y §g AEGHal Bl Wik AeEihal o fohaar ufau s=y e
(1) 24.7% @) 23.1%
(3  36.5% @) 51.1%

[Question ID = 2642][Question Description = Q4_GP_SET8_51_5Shift2]
1. 1 [Option ID = 10565]

2. 2 [Option ID = 10566]

3. 3 [Option ID = 10567)

4. 4 [Option ID = 10568]

Correct Answer ;-

e 1 [Option ID = 10565]

3) The table below presents the unit slaes of the ‘ZZ999" Motoreyle in six European Countries
over a s1x month period from January — 2020 to June 2020. These motorcycles are imported

into each country by a main dealer. Based on the data in the table, answer the question :

Country — wise Sale of Motoreyles

Country | January | February | March | April | May | June | Total
Germany 34 47 45 54 56 60
UK 40 44 36 47 47 46
France 37 32 32 32 34 33
Belgium 14 14 14 16 17 14
Spain 29 29 28 31 29 31
Italy 22 24 24 26 25 23
Total

What percentage (%) of the total imports is accounted for by the three smallest importers?
(1) 37.1% (2) 14.8%
3) 40.0% 4y 35.2%

Frefatga Al St 2020 o 57 2020 9% 6 98 9 Fi s@Ety § I8 JOIE S g ‘ZZ999" Wi
Etea # vew e (3t o) =1 oot 21 3 Aot A g foea (3R) % g o i
Il =Rl el &1 Gl § Tega SRS o STTUR T YYH o S6t G

Sm-am AeEstHern i foh

SEAT | 34 | 47 | 45| 54 | 56|60
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F% | 40 | 44 | 36| 47 |47 |46
FTH 37 | 32 | 32| 32 |34]33
Afes=m | 14 | 14 | 14| 16 |17 14
w | 20 | 29 |28 31 |29(31
geet | 22 | 24 | 24| 26 | 25(28

&1 Te B AAEERatA] g el STETa A TeRan wfoera st Fen R e
@D  37.1% Q) 14.8%
(3) 40.0% (4 35.2%

[Question ID = 2643][Question Description = Q5_GP_SET8_51_Shift2]
1. 1 [Option ID = 10569]
2. 2 [Option ID = 10570]
3. 3 [Option ID = 10571]
4. 4 [Option ID = 10572]

Carrect Answer :-
s 1 [Option ID = 10569]

Topic:- GP_5et8_B

1)

What 1s the name for the type of checklist or rating scale that expresses criteria on some
point-scale to determine the quality of the performance of a student?

(D Diffusion (2) Rubrics

3 Track system (49) Deduction
o ferneft % e Rurm + fom arerei A oiAgE faema g=h 71 Fuw = 70 1w 27
() T 2) wh
3  F-Towen (4) A

[Question ID = 2684][Question Description = Q06_GP_Set8_S1_Shift2]
1. 1 [Optien ID = 10733]

2. 2 [Option ID = 10734]

3. 3 [Option ID = 10735]

4. 4 [Option ID = 10736]

Correct Answer ;-

e 1 [Option ID = 10733]

What is the name of the mental process that assists learners to reflect on their thinking by
mternalizing, understanding, and recalling the contact to be learned?

(1) Meta cognition (2) Rubrics
(3) Peer tutoring (4) Debriefing

30 ol iR W AW 2 S IeEdiEr, aevviea, Afmfa 1 o arell -y % SeeE &
210 Fransft =t = o e = wEme e 2 7

(1)  oTEwsm™ (2) T

(3) Tl sEmEw (4) T FAHRT A

[Question ID = 2685][Question Description = Q07_GP_Set8_S1_Shift2]
1. 1 [Option ID = 10737]

2. 2 [Option ID = 10738]

3. 3 [Option ID = 10739]

4. 4 [Option ID = 10740]

Correct Answer ;-

& 1 [Option ID = 10737]

Gaven below are two statements :

Statement I: In free version of google meet (through your personal Gmail / Google account)
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you can record your session / class.

Statement IT: To join an online class / session conducted via Google Meet you need to login

to your Google account.

In the hight of the above statements, choose the correct answer from the options given below:

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect

(3) Statement I is correct but Statement II is incorrect

(4) Statement I is incorrect but Statement II is correct
f=1 =i e few o 2

w2 ([): i diz % B ogoH 8 (T SIfdaTa S A/ RS B g G SO @ feeg

uhd 2 |

e (II) : TPTA WE g Halford UF STHeTE e /8 i SaFA Ft % 00 791 319 T THse |

M- W i 754 Uyt 2 |

I U F A 5, A G T Trmedi § 9 UeE I ST A T I

(1)
2)
(3)
(4)

Fom I 3R L5 o8t 2 |
w0 1 3R I 51 o 2 |
FoH [ T2 2, A woF 11 Tem 2 |
FUA 1 7Terd 2, AT e IT e 2 |

[Question ID = 2686][Question Description = Q08_GP_Set8_S51_Shift2]
1. 1 [Optien ID = 10741]
2. 2 [Optien ID = 10742]
3. 3 [Optien ID = 10743]
4. 4 [Option ID = 10744]

Correct Answer ;-
e 1 [Option ID = 10741]

Which of these decision traps pertain to personal qualities?

(A) Frame blindness

(B)  Overconfidence

(C) Taking shortcuts

(D) Beilng unsystematic

(E) Not keeping records

Choose the correct answer from the options given below :

D

(3)

(&), (B), (C) only 2 (B). (©), (D) only

(A, (C). (D) only @ (C). (D), (E) only

Freferfiga o @ % Fola-um S=fFas i @ geafag 27

A

®)

©)

-
HAfa-favamm

T AFTE
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R VL N L Y

D) A=Eter g

(B) Topie 7w

f= fiu 7o fomeul § ° T8 S w0 = Fife

(1) Fad (A), B). (C) (2) = (B), (C), (D)

®  Fd A (C). (D) @ = (0), (D), (E)

[Question ID = 2687][Question Description = Q09_GP_Set8_S1_5Shift2]

. 1 [Option ID = 10745]
2 [Option ID = 10746]
3 [Option ID = 10747]
. 4 [Option ID = 10748]

Correct Answer ;-
e 1 [Option ID = 10745]

) Match List I with List IT
List I List IT
(A) Proprietary LMS O MOODLE
(B) Open source LMS (II) Google classroom
(C) Cloud based LMS (III) Black board
(D) Data collection and quiz (IV) Google form
Choose the correct answer from the options given below :
L A-AV), B)-AID), (C)-1@). M)-dD
(2) (A)-(1I). (B)-AV), (C)-1LD), (D)-(D)
3 A1, B)-dD, (C)-aAV), (D)-(d1I)
4 (A)-(1ID), (B)-(D), (C)-(D. (D)-AIV)
T=hi-1 % o g=-11 =1 fiere ifsm -
Al ge-I1
(A) Tl e . @ wEaLs g (5)
(B) ofiY= UiH T, UH.UH. AD) prE FEHE
(C) 7SS TS UH.UH.UH, D) =i =15
D) T FFeA AR Fa= AV) T FH

4= a2 o el ° © @t 3 = = Hifau

1 @-av), B)-d. (O)-O. (D)-AD
2  @-Aah. B-AV), (O-dID). O)-0
(3 @D, B-AD, (C)-aV). (D)-(1D
(49 (A, B)-0),. (O)-ID), (D)-AV)

[Question ID = 2688][Question Description = Q10_GP_Set8_S1_5Shift2]

1
2
3
4

Carrect Answer :-

. 1 [Option ID = 10749
. 2 [Dption ID = 10750]
. 3 [Option ID = 10751]
. 4 [Option ID = 10752]

1 [Option ID = 10749]

Scientific research has the ultimate goal of explaining any phenomenon by

prepp
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(1) Conditional laws (2) Laws of uniqueness
(3) Laws of intuition (4) Laws of generalisation

s ona % g fadt afee % s aaE sl aeen, B mem 8 g 27

(1) "o fem Q) fgdEar o oy
(3) 31 U1 H A (4) =i fFem

[Question ID = 2689][Question Description = Q11_GP_Set8_S1_Shift2]
1, 1 [Option ID = 10753]
2. 2 [Option ID = 10754]
3. 3 [Option ID = 10755]
4. 4 [Option ID = 10756]

Carrect Answer :-
& 1 [Option ID = 10753]

| 7)  Which of the following are true case studies?
{A) Easy to generalize the findings
(B) Normally Selects one case for analysis at a tume
(C)  Highly quantitative in character
(D) Integrates different perspectives

(E}  Adopts the most consequent approach to the particular

Choose the correct answer from the options given below :
(1) (A). (B). (C) only (2) (B).(C). (D) only

(3)  (B). D). (E) only 4) (©). (D). (E) only
Ffaitga 0 O $ TFOT-2150E % a1 ° T 77
(A) Wi = R S 3
(B) GG U G H Uk 0T <l 94 T ¢ |
(C)  Tkwar A s==u vl e |
D) fafim gt = wafea w2
() fafire 39 warepe sadl sarme i SRR e 3 |
f= fou U foamwedl § W UE SO W 99T HIeT

(1) F=a (A), B). (O) 2 Fa4 (B), (C). (D)

(3  aa B), (D). (B @) =Fa (C). (D), (E)

[Question ID = 2690][Question Description = Q12_GP_Set8_S1_5Shift2]
1. 1 [Option ID = 10757]
2. 2 [Option ID = 10758]

| 3. 3 [Option ID = 10759]
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Carrect Answer :-
& 1 [Option ID = 10757]

Identify the sequence of methodological steps in focus group research :
(A) Select a sample

(B) Prepare the focus group material

(C)  Define the problem

(D) Decide the number of groups needed

(E) Prepare the mechanics of the study

Choose the correct answer firom the options given below :

@D A).E). D). ©).B 2 (O, @A), D). E. B

3 B A). D). E (4 (D). (A), (C). (B). (E)
Hehf-ga TUE WY T Fuhg O i Y@en F TaH F -
&)  F W g |
B)  FH3 TE INEH TR |
(C) g =i gl = |
(D) 3NaTEH TYE T H U T |
(E) 109 Jonell o

g feu o fomeut § @ O sox % = Fifsw

@1 Q). E). D) ©). B 2 (0O, &), D), E).®

3  B).(0). A, D), E @ @O &), (), (D), (E)

[Question ID = 2691][Question Description = Q13_GP_Set8_51_Shift2]
1. 1 [Option ID = 10761]

2. 2 [Option ID = 10762]

3. 3 [Option ID = 10763]

4. 4 [Option ID = 10764]

Correct Answer ;-

s 1 [Opticn ID = 10761]

Given below are two statements :

Statement I: Social scientists belonging to the verstehen tradition do not accept the idea of

predicting human behavior in mechanistic terms.
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Statement IT: It is asserted that the main aim of social science research i1s to promote

human understanding.

In the hght of the above statements, choose the correct answer from the options given below:

(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement I are false
(3) Statement I 1s true but Statement II is false

(4) Statement I 1s false but Statement II is true

FeA (D) : A% §if A vrag A SNt T=am 19 3 9ME SHaER gisra F TER W S
T # 2

Fo (ID) : oz Fiveregas w1 =mar 2 6 gt s mia Seva v =g = dieartza =+ 2 |

TEE T2 B Ae® 5, T e e fmed § 8 v s o o Hife

() ®AIARIIGE T 2 |

(2 I3 IISA o1 B |

(3) wuF 19T 2, vkt wua I 39T 2 |

(4  FE 19w 3, A FoE [ o 2 |

[Question ID = 2692][Question Description = Q14_GP_Set8_S51_Shift2]
1. 1 [Option ID = 10765]

2. 2 [Option ID = 10766

3. 3 [Option ID = 10767]

4. 4 [Option ID = 10768

Correct Answer :-

e 1 [Option ID = 10765]

19 Match List I with List II
LastI List IT
Concept Description

(A) Isomorphism () Use of both qualitative and
guantitative methods

(B) Trangulation (I) Premise that the simplest method is
most prefereable

(C) Principle of Parsimony (III) A property of a population

(D) Parameter (IV) Simlarity of structure

Choose the correct answer from the options given below :

1 A-O). B)-AD. (C)-(I), D)-(IV)
2)  AID. B-dID, (CO)-AV), (D)D)
(3  @-II). B-av). (C-@). D)-aADh
4 @A-IV). B)-O. (O)-dD. D)-dID
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T=t-1 & @y g=i-I1 =1 foerm Fife -

-1 g1-1T

[ETL ] ferarm
(A) THTHGHAT @  ToneEE 3T giomEeEs A ggfeat @ v
® foa D) =g e T geay ugii gatties =T 3
(C) Furar # g AIl) S 1 T
M) A aAV) oA Y T

Ha 33 v fodl 9 9 TE o) =954 HIeT
1)  A)-D, B)-0D, (O)-d1), (D)-IV)
2)  @-IDn, B)-(ID). (C)-AV), D)-D
@)  A-dID, B)-IV), (O)-D. D)-AD
(4) (A)-IV), B)-D), (C)-AD. (D)-ILD
[Question ID = 2693][Question Description = Q15_GP_Set8_S51_Shift2]
1. 1 [Optien ID = 10769]
2. 2 [Optien ID = 10770]
3. 3 [Optien ID = 10771]
4. 4 [Option ID = 10772]
) correct hnswer e
e 1 [Option ID = 10769]

M) ma classroom, transforming verbal and non-verbal signs back into messages 1s known as
(1) Feedback (2) Encoding
(3) Decoding (4) Reverse communication

FeqT H VI (Feiet) Wehd qUT AU (AH-T6) Tehal o1 GE9 H B0 FHadil 3

(1)  whagfe (Fieds) (2) WA (TFRITET)
3)  Tomepam (fewifsm) (4) foula symm (fed =egfeem)

[Question ID = 2694][Question Description = Q16_GP_Set8_S1_Shift2]
1. 1 [Option ID = 10773]
2. 2 [Option ID = 10774
3. 3 [Option ID = 10775]
4. 4 [Option ID = 10776
Correct Answer ;-

& 1 [Opticn ID = 10773]

Perspective taking in communication supports
(A)  Behavioural rigidity

(B) Openness

(C)  Sharing of information

D) Trust

(E) Secrecy

Choose the correct answer from the options given below :
(1)  (A). (B). and (C) only (2) (B), (C), and (D) only

3y (0), (D), and (E) only @ @A), (O), and (E) only

aume 1 gities a2 Feetefiga § O o gemd swar 2 7
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(A SIIEIE S

® g

(C) g ki wrgiedi

D) TEam

(BE) e

fr5 2w v fapeul § 9 TRl SO 1 99 i

() 7 (A), (B) ¥R (C) 2 F= (B), (C) ¥R (D)
(3) Fad (C). (D) R (B) @ FFa (A). (C) ¥ (E)

[Question ID = 2695][Question Description = Q17_GP_5Set8_S51_Shift2]

I " PO o Y

Correct Answer :

1 [Option ID = 10777]
2 [Optien ID = 10778]
3 [Option ID = 10779]
4 [Option ID = 10780

e 1 [Option ID = 10777]

13)
Given below are two statements : One 1s labelled as Assertion (A) and the other is labelled as
Reason (R) :
Assertion (A):  The positive feedback from the teacher 1s necessary to motivate students.
Reasons (R) : Continuous criticism of students 1s the best method to make them realize

positive outcomes 1n their pursuit of knowledge.

In the hight of the above statements, choose the answer from the options given below :

(L
(2)
(3
@

Both (A) and (R) are true and (R) is the correct explanation of (A)
Both (A) and (R) are true but (R) 1s NOT the correct explanation of (A)
(A) 1s true but (R) 1s false

(A) 1s false but (R) 1s true

ol ol

{9 o1 HeA fou 7w 2 TF HIUHeE (Assertion A) % ¥4 H ft@d 3 a1 580 5% F (Reason R) %

g A

ATTHA (A)

RO (R) :

e R T e e
=i 2

Tt = AR e % T A TeRl § WHRRIeTE IR W W O

T i 2

ST oA & I o, = G e fabedi 1 ¥ war 3% = = hife

(1) (&) 3 (R) T6 7 2 &R (R). (A) Fi 7 = 2 |
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(2)
(3)

(4)

(A) 2T (R) TF Ted & =t (R). (A) F1 T8t = & 2 |

(A) 97 2 A (R) 9703 2 |

(A) 379 2 i (R) 713 2|

[Question ID = 2696][Question Description = Q18_GP_Set8_S51_Shift2]
1. 1 [Optien ID = 10781]
2. 2 [Optien ID = 10782]
3. 3 [Optien ID = 10783]
4. 4 [Option ID = 10784]

Correct Answer ;-
e 1 [Option ID = 10781]

@ @A, 1)), D), E 2) @®. ). D). (E), Q)
3 (). E), D). &), B @ (®).(C), D). &), E)
TUTOT Ui TN T S 2
(4)  TfRwEw (TEEEE) F R

(B)

(©)

D)

(E)

The sequence of the stages of communication process is :

(&)

(®)

(&)

(3)

(E)

Level of acceptance
Transmission of congnitive data
Message reception
Understanding

Reaction

Choose the correct answer from the options given below :

AT (Hified) st =1 =

T 70 (A fai)

ata (swswisT)

PiGiEI

A= fau U famreul o O 9 I B =9I iy

1

(3)

A). (B). (©). ). (B) 2 @®. (), D). E). A

(€). (E). D), (A), (B) @ B). (). D), A). E

[Question ID = 2697][Question Description = Q19_GP_Set8_S51_Shift2]
1. 1 [Optien ID = 10785]
2. 2 [Optien ID = 10786]
3. 3 [Optien ID = 10787]
4. 4 [Option ID = 10788]

Correct Answer -
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| ® 1 [Option ID = 10785]

") Match List I with List II
TListT Last IT
Type of commumcation Characteristic feature
(A) Network communication ('  Formal and Planned
(B) Mass communication (I} Creates 1dentity and unique dynamics
(C) Public communication (III) Inter — dependent relations
(D) Small group commumication (IV) Anonymous audience
Choose the correct answer from the options given below :
(1)  A-ID. B)-ILI), (CO-AV), D)-D
(2) (A)-(IID, (B)-AV), (C)-D). (D)-AD)
3  (A-IV), B®-@, (O-aD, (D)-A1D)
(4) (A)-(D. B)-1D), (O)-(I1IL), (D)-(IV)
gfi-1 % @ g=i-I1 7 firers Hifs -
s g=t-II
(A) FeTH F9R O  TivETes aun AsTeg
(B) T IR (WE ) AD = = (smzefef?) awr sifgdia wfeh
(gFe SEmTieE) = et = 2 |
(C) WA TR (ufeets Fegfieu) (A1) ==nidE Ty (e feuge femmm)
(D) G "YE HER AV) AEE A (SIS ATSTE)

= 733 U Tl A O gl 39t = == iy

(D
@
(3
@

(&)-(10). (B)-(IID), (O)-IV), D)-(D
(A)-A1D). B)-IV), (O)-@). D)-AD
(A)-IV), B)-@), (C)-(ID), (D)-I1D
A)-D. @®)-ID. (O)-A1ID, (D)-AV)

[Question ID = 2698][Question Description = Q20_GP_Set8_S51_Shift2]

N U VU Ty

1 [Option ID = 10789]
. 2 [Option ID = 10790]
. 3 [Option ID = 10791]
. 4 [Option ID = 10792]

Correct Answer :-
e« 1 [Option ID = 1078%9]

Sagun purchased a smartphone at 9/10® of its selling price and sold it at 8% more than its
selling price. Her gain is

1 10% @ 12%

(3) 18% 4 20%

WA 3 TH W FF 30% WA 909 % 9109 Yod W i) a9 56 56 {6 9o O 8% 31 W s |

IO T 2
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1) 10% (2 12%
3) 18% 4 20%

[Question ID = 2699][Question Description = Q21_GP_5Set8_S1_Shift2]
1. 1 [Option ID = 10793]

2. 2 [Option ID = 10794]

3. 3 [Option ID = 10795]

4. 4 [Option ID = 10796]

Correct Answer ;-

e 1 [Option ID = 10793]

7)1t CHARCOAL is coded as 45164913, how will you code COALCAR?
1) 4913413 @) 6194314
3) 3194416 @) 4913416

73 2 9 # CHARCOAL %1 45164913 T =, ai COALCAR i 6w v&r formn smom?

1) 4913413 (2) 6194314
(3) 3194416 (4) 4913416

[Question ID = 2700][Question Description = Q22_GP_Set8_S51_Shift2]
1. 1 [Option ID = 10797]

2. 2 [Option ID = 10798]

3. 3 [Option ID = 10799]

4. 4 [Option ID = 10800]

Correct Answer ;-

e 1 [Option ID = 10797]

Looking at a photo of a man, Ravi said, ‘His mother 1s the wife of my Father’s son. I have no
brothers and sisters’.
At whose photo was Ravi looking?

(1) His Cousin (2) His Son

(3) His Uncle (4) His nephew
frdi 759 % BiEl R T @A A 4 Fa, CSwh A o U % @kl 9o 2| 5T P 91E A1 o5
T2 217 da Teush wigl $ T Ty @ o
(1)  TF TR /e (FoA) @) o m=
(3) ST = (4) 1T
[Question ID = 2701][Question Description = Q23_GP_Set8_S1_5Shift2]
1. 1 [Option ID = 10801]
2. 2 [Option ID = 10802]

3. 3 [Option ID = 10803]
4. 4 [Option ID = 10804]

Correct Answer :-
a 1 [Option ID = 10801]

Given below are two statements :

Statement I: If the interest on a sum borrowed for a certain period is reckoned uniformly,

then 1t 1s called compound interest.
Statement IT: The money borrowed or lent out for a certain period is called simple interest.

In the light of the above statements, choose the correct answer from the options given below:
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(1) Both Statement I and Statement II are true

(2) Both Statement I and Statement II are false

(3 Statement I is true but Statement II is false

(4) Statement I 1s false but Statement IT is true
= 7 e fou o B

wE () : =R el oy % e ™ =0 = =3 i W @ e A I 2, @ 97 = S o

o (1D : el et & foqo o < 8 sty w01 91 amal amTE ST weendl 2 |

HEATAT B |

SRIE FIT F e A, 9 e e e 4 9w s o e il

(1)

(2)

(3)

4

FY [ I a1 99 2 |

Fu I 3Tk I =97 219 & |

T 19 2, wifhd %9 11 39T 2 |

oA 1 3183 2, oifte 99 M OeF 2|

[Question ID = 2702][Question Description = Q24 _GP_Set8_S1_Shift2]
1. 1 [Option ID = 10805]
2. 2 [Option ID = 10806]
3. 3 [Option ID = 10807]
4, 4 [Option ID = 10808]

Correct Answer :-
« 1 [Option ID = 10805]

20) Match Last T wath Last IT With respect to completion of sentences

(A)

B)
©

D)

IListI

The sum of first forty five natural
number 1s

The least prime number 18

The total number of prime numbers
less than 70 13

On dividing 4150 by a certain number
the quotient is 55 and the remainder
is 25. The divisor 18

Tast IT

I 19

(I 75
(III) 1035

V) 2

Choose the correct answer from the options given helow :

(1)
(2)
(3)
(4)

(A)-(I). (B)-(I1D), (C)-(I), (D)-(IV)
(A)-(II), (B)-(ID). (C)-AV). M)-@D)
(A)~(IID). (B)-(IV). (C)-(D), (D)-(IT)
(A)-ID). (B)-aV), (O)-AUD. O)-(D

g1 = wrg g=i-I1 =1 faem Fifsy 3w v ifsw B e g gt sy

o=

— 0
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QL qi-ar
A wem daref| wples aemat = 2 O 19
B) w9 Bt TG T3 | an 75
(C) T U B =g Tl =l FA T 21 (IID 1035
D) wem 4150 =+ i wem 9w = = (Iv) 2
YUTEET 55 I AT 25 Tl 2, A W 8

4= e foeredl O o 98 39 1 =A hifay

L @A-AD, B-IID, (O)-@O. D)-AV)

(2) A-Im), B)-AD. (O-aAv). O)-M

3  @-I), B-IV), (C)-(D). D)-aI)

@  @W-an. B)-AV), (O-dID). O)-@

[Question ID = 2703][Question Description = Q25_GP_Set8_S51_Shift2]

N VL B T Y

. 1 [Option ID = 10809]
2 [Option ID = 10810]
3 [Option ID = 10811]
. 4 [Dption ID = 10812]

Correct Answer :-
e 1 [Option ID = 10809]

Given below are iwo statements : One 1s labelled as Assertion (A) and the other is labelled as
Reason (R) :

Assertion (A): The argument “Everyvthing i1s nameable because it 1s knowlegable” is

fallacious.

Reasons (R) : There is nothing that is not nameable and I cannot find a place where,

In

because of the absence of the major term, the middle term is also absent.

the light of the above statements. choose the most appropriate answer from the options

given below :

Both (A) and (R) are correct and (R) is the correct explanation of (A)

Both (A) and (R) are correct and (R) 1s NOT the correct explanation of (A)

(1)
(2)
(3) (A) 1s correct but (R) is not correct
(4) (A) 1s not correct but (R) 1s correct

Hi= a1 o fiw e 2 ;s R (Assertion A) % =q 1 fufiga 3 a1 ggu soek ®w (Reason R) #

Fqﬁ
AT (A) : TF — Z F%g I A = HdT 2 T 97 I (Nersed) & 9 2
=1 (R) : vl ohig ag @l foraest T T8 & aehar Sii # U =i TUW T8 war 2, e Tred @

garzg i 2|

SYURE 9 % 3Tl |, A= 3¢ e foehedl | o usd Sk ST 0 e Ry

(1)
(2)

(3)

(A) 3R (R) T T2t 2 37% (R). (A) 1 w31 = 21

(A) 3R (R) IFT T& 3 © (R), (A) F T&l =amem T 2 |

(A TH 2 a5 (R &5 781 2 |
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@ ()T TE 2 A R) TE 3

[Question ID = 2704][Question Description = Q26_GP_Set8_S1_5Shift2]
1. 1 [Option ID = 10813]
2. 2 [Option ID = 10814]
3. 3 [Option ID = 10815]
4, 4 [Option ID = 10816]

Correct Answer :-
e« 1 [Option ID = 10813]

22) Given below are two statements :

Statement I: The terms ‘true’ and false apply to arguments.
btatement II: The ferms ‘true’ and false’ apply to statements.

In the hight of the above statements, choose the correct answer from the options given below:

(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement I1 are false
(3) Statement I is true but Statement II 1s false

(4) Statement I is false but Statement IT is true

= 3 woR Ro o 2

F (D) : W I oW 9 T W AN B 3 |

wo (D) :  ‘wdl o ‘e’ ug HYHI W @] R 3 |

I HYF = A §, A9 5w T faement 4 ¥ T9 S H == Hite
1) e I3 I 3A g 2 )

@) w3 I 39 oEe 2 |

(3)  ww IT 2, GReT B9 1L 315 2 |

(4)  FuT I 2, AT F99 [T 2 |

[Question ID = 2705][Question Description = Q27_GP_Set8_S51_5Shift2]
1. 1 [Option ID = 10817]
2. 2 [Option ID = 10818]
3. 3 [Option ID = 10819]
4, 4 [Option ID = 10820]

Correct Answer :-

e 1 [Option ID = 10817]

Given below are two statements ;

Statement I: The fallacy of contradictory middle (viruddha) occurs in an argument when

the middle term 1s found both where the major 1s found and where it 1s not
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found.

Statement Il : The fallacy of contradictory middle (viruddha) is committed in an argument

when the middle term 1is found only where major term is absent.

In the light of the above statements, choose the correct answer from the options given below:

(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement II are false
(3 Statement I is true but Statement I1 1s false

(4) Statement I is false but Statement IT is true

= 2 =y feu au 2

o (I):  Tondi o5 0 Reg grare o8 FiaT & 99 2d gF B feafeai § qrn Sen § - 99 9159 w0 aan

=t

T S SR U AT AR5 |
For (ID): el o6 4 foreg Feamars ae 2iat & 9 2g o gar ol o e 6 1 @ |
e Fo F e A, R T fred § 3w I e A
(1) wE IAR IS 93 £ |

(2)  F LR I3 o1& 2 |

(3) FWITH 2, o 9 I3/ 2|

(4) =y IO 2, 9 F9F o 2

[Question ID = 2706][Question Description = Q28_GP_Set8_51_Shift2]
1, 1 [Option ID = 10821]
2. 2 [Option ID = 10822]
3. 3 [Option ID = 10823]
4. 4 [Option ID = 10824]

Carrect Answer :-
s 1 [Option ID = 10821]

24)  Given below are two statements : One is labelled as Assertion (A) and the other is labelled as
Reason (R) :
Assertion (A):  For Naiyavikas, logic 1s not formalized and divorced from existence.
Reasons (R) : Naiyvayvika's interest in logic 1s for finding out the truth about the existent
world, but not merely for finding out the instrument of thought for their
own sake.

In the light of the above statements, choose the most appropriate answer from the options
given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct and (R) 1s NOT the correct explanation of (A)
(3) (A) is correct but (R) is not correct
(4) (A) 1s not correct but (R) 1s correct

= F1 e f3u e § ; u SEUA (Assertion A) % ¥ H fafiga 2 a1 g@U 259 W (Reason R) %
'{E‘I{i\i

Al (A) : STREhT % STIETE, T ATRRSIg THl 2 § a1 T8 iftaea § fafes= v 2
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IO (R) : e H HEH 61 B FEHE &9 F 909 B 90 OFH 7 3, T T e 355 39 /Y

forem = mreAl w6 ged |

9 HYF F e H, = div e femedt 7 9 ged 3w ST B A i

(1)
(2)
3
€

(A) +t (R) 397 @& 2 oik R). (A) i =d =men 21

(A) 31 (R) 21 w21 & Al (R), (A) i @& =ame 74 71
(A) Tt 2 SfeT (R) 9l 981 2|

(A) wEl 7 2 ST R) T@ 2

[Question ID = 2707][Question Description = Q29_GP_Set8_S1_Shift2]
1. 1 [Option ID = 10825]
2. 2 [Option ID = 10826]
3. 3 [Option ID = 10827]
4. 4 [Option ID = 10828]

Correct Answer :-

1 [Option ID = 10825]

Socialized medicine 1s not recommended because it would result in reduction of the over all
quality of medical care. In addition, it might well bankrupt the federal treasury. This is the
whole case against socialized medicine. “What 1s the conclusion in the above argument?

(1) Socialized medicine is not recommended.

(2) Sociahized medicine would result in reduction in the overall gquality of medical care.
(3) Socialized medicine might bankrupt the federal treasury.

(4) There are overwhelming arguments against socialized medicine.

At situly A1 sz 7E i I 2w s e S A e e § s g s
AfaREd, 309 ToE TorRe i fGatemn 51 S | 97 wesiena sy B 9l FEHl 2 ) S o W 94

oy 27

1)  wusliga et ) s =8 6 S 2

Q)  wuigd ety o el dan $i gl e 9 g@ g
(8)  wuREa sty § gHE wehy feanfermn &t s |

(4)  wEwliEg il % faeg mogg o fog 7 )

[Question ID = 2708][Question Description = Q30_GP_Set8_S1_Shift2]
1. 1 [Option ID = 10829]
2. 2 [Option ID = 10830]
3. 3 [Option ID = 10831]
4, 4 [Option ID = 10832]

Correct Answer :-
e« 1 [Option ID = 10829]

With respect to Computers, which of the following groups consists of volatile memory only?
(1) RAM and Pen Drive (2) Hard Disk and ROM
(3) RAM and Cache (4) Cache and ROM

FHEHR % FEERY § eIt § @ FH @ g hao dieneisa Har w87

(1)
3

| R 99 =Ea (2) =E 5w ok dn
T 3 Fm (4) w Fm

[Question ID = 2709][Question Description = Q31_GP_Set8_S1_Shift2]
1. 1 [Option ID = 10833]
2. 2 [Option ID = 10834
3. 3 [Option ID = 10835]

4. 4 [Option ID = 10836

Correct Answer :-

e 1 [Option ID = 10833]

Identify the correct order of the following INTEL processors in the decreasing order of speed.

prepp

Your Personal Exams Guide



www.prepp.in

(A) 80486
(B) 8085
(C) Dual Core

(D) Pentium - III

Choose the correct answer from the options given below :

1) D). (O.®E). @A) 2y (0. (D). A). B
3 ©D B A @ @®.D), O, &

Frefafiaa 5o (757771 3,79, ) o 1 92 3¢ TR % A 8 =8 9 § farsd w1

(A) 80486

(B) 8085

(C) 33 H
®) ufem -1

=5 o U fowedl § o TE ST W 99 e

1 D).O6.B). @ 2 (©. D). A). B
3 ©.D),®). & 4 B, D), ). &

[Question ID = 2710][Question Description = Q32_GP_Set8_S1_Shift2]
1. 1 [Option ID = 10837]
2. 2 [Option ID = 10838]
3. 3 [Option ID = 10839]
4. 4 [Option ID = 1084
Correct Answer ;-
« 1 [Option ID = 10837]

Given below are two statements :

Statement I: TUSB drives are also known as flash drives.

Statement IL: Device used by banks to automatically read those unusual numbers on the
bottom of cheques and deposit slips 1s known as MICR.

In the light of the above statements, choose the correct answer from the options given below:

(1) Both Statement I and Statement II are true
2) Both Statement I and Statement II are false

(3) Statement I 1s true but Statement II is false
(4) Statement I is false but Statement IT is true

wo (I):  F.u@dr, g5g v ged & 9 4 ot SH 9 3

Fe (ID) : =6 3 TI-U= & G § T W Tl Wa: ged & fore s g uge 1=

31 H1L3, 5w H S A 2 |

IUIE U % I 1, Hi TaE e famet § ¥ ugl 39 % wE it
(1)  wE I Il aF @ 2 |
(2 w3 IS s 2 |
(8  ua Iue 2, A o I ormeT 2
(4 w0 I 3| 2, <Afe wu Il acg 2|
[Question ID = 2711][Question Description = Q33_GP_Set8_S1_5Shift2]

1. 1 [Option ID = 10841]
| 2. 2 [Option ID = 10842]

prepp

Your Personal Exams Guide



www.prepp.in

| 3. 3 [Option ID = 10843]
4. 4 [Option ID = 10844)

Carrect Answer :-
& 1 [Option ID = 10841]

Which of the following are software?

(A) Adobe

(B) Web browser
(C) Compiler

(D)  Device Driver

Choose the correct statements from above :

(1) (A, (B) and (C) only
(3) (A), (C) and (D) only

fefafiaa § 9 #19 diveam 27

@ TEm

B) T4 FEH

(C) IS

D) feama gER

i feu U faepeat 0 U Ut SR = 9= hifay ;
(1)  waa (A). B) ik (O)

(3)  Had (A), (C) 3t (D)

(@) (B). (C)and (D) only
4) (A), (B) and (D) only

2) Faa (B), (C) 3R (D)
(@ 39 (A). (B) 3k (D)

[Question ID = 2712][Question Description = Q34_GP_Set8_S51_Shift2]

1
2
3.
4. 4 [Option ID = 10848]

. 1 [Option ID = 10845]
. 2 [Option ID = 10846]

3 [Option ID = 10847]

Correct Answer ;-
e 1 [Option ID = 10845]

Match List I with List II

List I
(Name of Company)
(A) Apple Inc.
(B) Microsoft Inc.
(C) Infosys Litd.
(D) Airtel

List II
{Founder)
(D N.R. Narayana Murthy
(II) Steve Jobs
(IIDD Bill Gates
(IV) Suml Bharti Mattal

Choose the correct answer from the options given below :

(1)  @)-dID, B)-AV), (C)-dD, D)-D
(2 @)-0V). B)-0), (C)-{I1), D)-D
(3  @A-aDh, (B)-aV), (G-, (D)-IID
@  (A-ID, B)-IID. (C)-D). D)-AV)

gH1-1 % Wy FH-I1 1 e Hifem

A)
®)
(€)
D)

-1
FO] % T
T 3
THIteE fafies

U e

)

T 1T
TEATTH

@ T AR, AREEE

an wa S

a1 foe rem

V) mhe s fore
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1) A-am. @-Iv). (6-ID, O)-O
@  A)-Iv), (B)-1), (G)-1D), (D)-D
3  A-AD, B)-IV), (O)-O. (D)-ID)
@  A-AD. B)-IID. (O)-O), D)-AV)

[Question ID = 2713][Question Description = Q35_GP_Set8_S1_Shift2]
1. 1 [Option ID = 10849]
2. 2 [Option ID = 10850]
3. 3 [Option ID = 10851]
4. 4 [Option ID = 10852]

Correct Answer :-
s 1 [Option ID = 10849]

According to one of the Sustainable Development Goals, the per capita global food waste at
the retail and consumer levels is to be reduced to the extent of

(1) 12 (Hald (2) 1/3 (One third)
()  1/4 (One fourth) (4) 1/10 (One tenth)

ureft T wafgai o @ ok & oER, @eu ot sy Wt W yia =ufra dfvas sman-sfear #i 6o
AT qF TEET A

Q) 12 (smH) @ 13 (v fsrd)
(3  1/4 (v =) @) 110 (v% )

[Question ID = 2714][Question Description = Q36_GP_Set8_S1_Shift2]
1 [Option ID = 10853]
2 [Option ID = 10854]
3 [Option ID = 10855]
. 4 [Option ID = 10856]

Db ot R e

Correct Answer :-
e 1 [Option ID = 10853]

32) According to WHO standards, the pesticide content (Lindane or DDT) in drinking water

should not exceed
(1) 1pgld (2) 2 upgl™?
3) 5uglt? (4) 10 ugl?
forra = W1 % AR 9 S 9 g Fi qnn (e @ St AL) d wAfe T
BT =z
(1)  1ugl? (2) 2pglt
3)  5ugL? (4) 10 pgl?

[Question ID = 2715][Question Description = Q37_GP_Set8_S1_Shift2]
1. 1 [Option ID = 10857]
2. 2 [Option ID = 10858]
3. 3 [Option ID = 10859]
4. 4 [Option ID = 10860

33) Which of the following Pollutants has the least residence time in atmosphere?
(1)  Nitric Oxide (2) Nitrous Oxide
(3) Chloroflorocarbons (4) Methane

fat v [

1 o © 0 Tee W a1y § g Uiy e 8 7

(1) RS aEEs (2) A5eH AT
(8)  wA-FA - (4) iem

[Question ID = 2716][Question Description = Q38_GP_Set8_S1_5Shift2]
| 1. 1 [Option ID = 10861]
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| 2. 2 [Option ID = 10862]
3. 3 [Option ID = 10863]
4. 4 [Option ID = 10864]

Correct Answer :-
e 1 [Opticn ID = 10861]

. Noise levels (db) are referenced to the human hearing threshold at a frequency of
(1) 50 Hz (2) 100 Hz
3 1 KHz (4) 4 KHz

FE STgfa W Ay SEm S T TR (FE) W ey P B s e

(1) 50Hz (2) 100 Hz
(3) 1 Khz 4 4Khz

[Question ID = 2717][Question Description = Q39_GP_Set8_S51_Shift2]
1. 1 [Option ID = 10865]

2. 2 [Option ID = 10866]

3. 3 [Option ID = 10867]

4. 4 [Option ID = 10868]

Correct Answer ;-

e 1 [Option ID = 10865]

35
) International Solar Alliance Framework Agreement entered into force in the year
(1) 2015 2y 2017
(3) 2016 (4 2018

F~GE TR T2 Tl (ST Fien SIAEE BHeb Giie) @] 3o ?

() 2015 (2 2017
(3) 2016 4 2018

[Question ID = 2718][Question Description = Q40_GP_Set8_S1_Shift2]
1. 1 [Option ID = 10869]
2. 2 [Option ID = 10870
3. 3 [Option ID = 10871]
4. 4 [Option ID = 10872

Correct Answer :-
e 1 [Opticn ID = 10869]

In Banabhatta’'s Kadambri, geod education has been described as having knowledge of 64
Kalaa or arts. Among these 64 Kalaa, Which among the following subjects were included

(I)  Only arts such as Singing and Painting
(2)  Only arts and vocational courses
(3) Arts, vocational courses and Medicine

(4) Arts, vocational courses, Engineering, Medicine, Mathematic, Science and Many
other subjects.

oy i Femt °, IO N %1 99 64 Fonedl W AW WH % FU H TR T 21 39 64 wonedl H

ffefiga 9 o =+ gibfea 47

(1)  Fae TR o R S Fom

(2)  TFae STEEE TEAHH 3 Fer

(8)  heTd, =EEIES T, AP

@) e, oyt s, s, s, -, e s ws s e
[Question ID = 2719][Question Description = Q41_GP_5Set8_S51_Shift2]
1. 1 [Optien ID = 10873]

2. 2 [Option ID = 10874]
| 3. 3 [Option ID = 10875]
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| 4. 4 [Option ID = 10876]

Carrect Answer :-
s 1 [Option ID = 10873]

Given below are two statements : One 1s labelled as Assertion (A) and the other is labelled as
Reason (R) :

Assertion (A): Doing Inter — disciphinary research is more challenging than that in within
any single discipline.

Reasons (R) : It 1s not possible to combine knowledge from two disciplines.

In the hight of the above statements, choose the correct answer from the options given below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(3) (A) 1s true but (R) is false

(4) (A) 1s false but (R) 1s true

= 3 #oF w7 2 ;. vF AR (Assertion A) % ¥4 H fafiq 2 91 390 %6 FRW (Reason R) #
Wﬁ:

R (A) s v oy wen wfees i ot 2, PRl v et o % e TR e oy
H ge A |

#17 (R) : 21 el © WA F oS O TE R

SHRIT FUF % e A, T v T fepedi § | wE S w99 I

1 (A sk ®) I FH F &k ®), Q) F & onEm 7

@ (AR (R) I I T @A (R), (A) Fi T8 = 76 2

(3) (A TH 2 TR R) 9T |

@ (A =T 2 o R) 7 R

[Question ID = 2720][Question Description = Q42_GP_Set8_S1_Shift2]
1. 1 [Optien ID = 10877]
2. 2 [Option ID = 10878]
3. 3 [Option ID = 10879]
4. 4 [Option ID = 10880]
Carrect Answer :-
e 1 [Option ID = 10877]

38 i i ; ;
) Empirical studies have shown that the women students are under represented in the

disciplines such as science, technology, engineering, and mathematics (STEM). Its possible

reasons could be

(A) Women students do not feel comfortable with STEM subjects.
(B) Women students cannot excel in STEM subjects

(C) Woment students lack in aptitude in STEM subjects

(D) Women siudents face threats due to negative stereotypes.

(E) Women students are not encouraged by the parents to join STEM disciplines.

Choose the correct answer from the options given below :
1) (A (O, (E)only 2y (B). (E) only
3  (C). (D) only @ (D). (E)only

I Al 5 qmEn 3 B Ao e w0 fmm, s sihenfeeh ok nftm (mAs )
S ot | sreg wiaffee 2| s wowiea =R 8w ©
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(A)
B)
©)

)
(E)

afzen-faemeftor (vw.fiim.) faw=i 0 son e T oW @ g |

Afgen-farnsfim =1 (T@#t 3 wm.) i d siftnsfa =1 stvma 2

Afgar-fermefimo Trcns Eieagar & wRo @i 1 auH = 2 )
Atgen-taenefimor 6t sas war-Tiar % g (vadisen.) oot o & & foo sconfga =8t oo s

21

Hf= feu U erpedi 1 o wE 3T 1 99T il

(1)

3

Fa (A), (C). (B) @) F (B). (E)

e (C), (D) 4) a1 (D). (E)

[Question ID = 2721][Question Description = Q43_GP_Set8_51_Shift2]
1. 1 [Option ID = 10881]
2. 2 [Option ID = 10882]
3. 3 [Opticn ID = 10883]
4, 4 [Option ID = 10884]

Correct Answer :-
e 1 [Option ID = 10881]

Given below are two statements :

Statement I: A hoshstic and multi — disciplinary education aims to develop intellectual,

aesthetic. social, physical, emotional and moral capacities of students.

Statement IT : In 215t Century persons require only intellectual capacity to be successful.

In the light of the above statements. choose the most appropriate answer from the options

given below:

(1)
2)
3

(4)

Both Statement I and Statement II are true

Both Statement I and Statement IT are false

Statement I 1s true but Statement II 1s false

Statement I is false but Statement II is true

H (D : U aug 1R wg-Fras-fen =1 stva Fenfien & sifgs, gid-weia, gt adiies,

AT o e smarett #1 frem 2

wF AN : 216 samd 4 =afFaat = ava 2F % o Fae sifgs sma i sterswa 2 2

Iutid BYA o Hierk 4, i o me et 4 O wed suEes SOt = AR

(1)

FAT A

= I 3t IL2F 5t 2 |

.

::Qr!:r'l’a‘ﬂt'l’f:l'l:rrumgl
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(8 = Iuw 2, fer w11 otaes 2|

(4) = 1o 2, AT w99 I ae9 2|

[Question ID = 2722][Question Description = Q44_GP_Set8_S1_5Shift2]
1. 1 [Option ID = 10885]
2. 2 [Option ID = 10886]
3, 3 [Option ID = 10887]
4, 4 [Option ID = 10888]

Correct Answer :-
a 1 [Option ID = 10885]

Global Citizenship Education (GCED) aims at

(&) Making students to become members of U.N.O.

(B) Helping students to understand contemporary global challenges.
(C) Making students to become promoters of peaceful societies.

(D) Making students eligible to join foreign services.

(E) Making students eligible to become diplomats.

Choose the correct answer from the options given below :

(1) (&), (B)only @ (B), (C) only

(3)  (C), (D) only (4) (D). (E)only
Afvaes ArieRar e (S.E.E) #1 e 2|
&) el = 9,030, %1 vewr w1 % forg Fam e
B) faenftEl = aramte Avas At = guge F ggmar s

(C) Tt = wnfegol WAt =T UicHTETRAl S % T GRS

D) bl =+ G2w S@est 4 9 % 9 =)
(E) ferenfdsi =6t vt e=4 % Firg sqmI

H= fu m fmedt § O 9 s 9= Fifa
1) FEd Q) (B) 2y *aE@ (B), (C)

@) = (C), (D) @) Faa D), (E)

[Question ID = 2723][Question Description = Q45_GP_5Set8_S51_Shift2]
1. 1 [Optien ID = 10889]
2. 2 [Optien ID = 10890]
3. 3 [Option ID = 10891]
4. 4 [Option ID = 10892]

Correct Answer ;-
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» 1 [Option ID = 10889]
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1)

Read the passage and answer question

The need for a theory of justice relates to the discipline of engagement in reasoning about a
subject on which 1t 1s as eminent author Burke noted, very difficult to speak. It 1s sometimes
claimed that justice i1s not a matter of reasoning at all; it is one of being appropriately
sensitive and having the right note for injustice. It is easy to be tempted to think along these
lines. When we find, for example, a raging femine, it seems natural to protest rather than

reason elaborately about Justice and injustice. And yet a calamity would be a case of injustice
only if it could have been prevented, and particularly if those who could have undertaken

preventive action had failed to try. Reasoning in some form cannot but be involved in moving

from the observation of a tragedy to the diagnosis of injustice. Further more, cases of
njustice may be much more complex and subtle than the assessment of an observable
calamity. There could be different arguments suggesting disparate conclusions, and
evaluations of justice may be anything but straight forward. The avoidance of reasoned
justification often comes not from indignant protestors but from placid guardians of order
and justice. Reticience has appealed throughout history to those with a governing role,
endowed with public authority, who are unsure of the grounds for action, or unwilling to
scrutinize the basis of their policies. The requirements of a theory of justice include bringing

reason Into play in the diagnosis of justice and injustice. Over hundreds of years, writers on
justice in different parts of the world have attempted to provide the intellectual basis for

moving from a general sense of injustice to particular reasoned diagnosis of injustice.

What i1s central to the theory of justice?

(1)
(3

Reasoning on a subject (2) Dafficult interpretations
Subjective engagement (4) Identification of an issue

= % firgra #i saTEEar =1 Ged R 08 e % R ¥ a6 % Tuee w w6 B ° geiia o 8 3
forrh T o ok 9 forema wres A W $@ e wga Fied sarn 2| wt-wft a3 g@n fen s 2
=17 i @k 0 a7 fserge 281 ®ar o @t 97 598 ¥ v 8 T swee gden % ai-o s
WE T9F T | T8 T W WieH % T SRa 5 STE 2 | 39 oI, 99 2 9 2 R R i s
£ fufa § = aw s % an o fRanrgEs wR-faat B one s e e e 2
TITE s S a1 TF AR B TEdl 2 A som famm e v, oM frm s e s A o W
o A Fraroners FE X gwd o, UE W 6 T A sEed © | Bed vy 0 o gw ol 4d, wfes
Frdfl aad) % STadi®a 8§ S % 9gF Al 0% 9ed B AT 2 | HH AfAlad, A=W B Ay FadE
T TH AT SIEl T geAaA i go J Al Sl o gam B | T m-fim Tt & g T
T3S a% & TFd 3 31 =/ % geare 33 i @ Tear @ W @9 @Yy 9 % aehge giare
1 GiEr %2 FRiusdisi U 781, i oTaw 9u1 = % Wi e 4 2 udl 2 | saed s 2
T A SE1 A W @ 7 - o e sedi gfiem, S TR T 2 U S PRAE B % TR 6
ax ¥ g < feafd 1 2 sven sl Aifd % omaR i S A % 39gE A9 8 | A % g
AFTEHA § =A™ I A % FgE ¥ 7 & 9w 2 2 | FFsi an | fava F e a4 == F
ey 1 forgs ae SEe® A 3= g 9 ¥ o 5 R ashg fam i ot s 2 difew eman
YaH S 1 9AE R 2 )

=T % Tga o hg T 27
(1) Tt foom = i ° @ Q) faft= =
(8) =AfFatE ger @ T fvg = T

[Question ID = 2724][Question Description = Q46_GP_SET8_S51_Shift2]

T e

. 1 [Opticn ID = 10893]
2 [Option ID = 10894]
. 3 [Option ID = 10895]
. 4 [Option ID = 10896]
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Correct Answer :-
e 1 [Opticn ID = 10893]

Read the passage and answer question

The need for a theory of justice relates to the discipline of engagement in reasoning about a
subject on which 1t 1s as eminent author Burke noted, very difficult to speak. It 1s sometimes
claimed that justice i1s not a matter of reasoning at all; it is one of being appropriately
sensitive and having the right note for injustice. It is easy to be tempted to think along these
lines. When we find. for example. a raging femine, it seems natural to protest rather than
reason elaborately about justice and injustice. And yet a calamity would be a case of injustice
only if it could have been prevented, and particularly if those who could have undertaken

preventive action had failed to try. Reasoning in some form cannot but be involved in moving

from the observation of a tragedy to the diagnosis of injustice. Further more, cases of
njustice may be much more complex and subtle than the assessment of an observable
calamity. There could be different arguments suggesting disparate conclusions, and
evaluations of justice may be anything but straight forward. The avoidance of reasoned
justification often comes not from indignant protestors but from placid guardians of order
and justice. Reticience has appealed throughout history to those with a governing role,
endowed with public authority, who are unsure of the grounds for action, or unwilling to
scrutinize the basis of their policies. The requirements of a theory of justice include bringing

reason into play in the diagnosis of justice and injustice, Over hundreds of years, writers on
justice in different parts of the world have attempted to provide the intellectual basis for

moving from a general sense of injustice to particular reasoned diagnosis of injustice.

What is the simplistic view about justice?

(1) It is a matter of reasoning

(2) It 1s being appropriately made aware of injustice
(3 It 1s of very little significance

(D) It 15 a matter of protest

frefertiga TeAm i afeu 3t 999 % IO A

= % Torgia # awEwa F1 gy e vE T F 91§ 996 % SI99eE W 96 U weigd 5 4 8

o Tawa o w0k S0 foreama sre® 4 W F@ e wga St samn 2| Fft-wft 13 q@n Fen s 2
=17 i @k = faug feerge <81 sar o whar; 97 598 @ v 8 T swea geen % a-my s
WE THF T | TW T W Wi % T SRa 5 STE R | 39 % oI, oW g 9 2 R R o s
$i foufa § =g awr s=m % i A fRangE® ah-faash w F s soe g e @ 2)
TITE i TS a4 T 9E 2 TEdl ¢ A som famm e S, oM fem s w  am o W
o o Fremoners HR 9 Thd o, UE E F oy 4 w8 | PR w9 A ek 1w ol wd, wfew
fordt el & raeiE 4 3= % eE F a0E ggq 6 gen 2| o wfalge, s % e st
T T A SEl F goAaa i ga § AU Sl 3R gam ® | T m-fim Tt & g T
T3S a% & TFd 8 3 =/ % geare 3% i @ Tear 3 W @Y @Y 9 % aehge giare
#1 ER 5¢ fusaisn o =8, afee o@Een o = % wiata Tt @ 2 ua 2| sfiem = 2
T A SE1 W @1 3 - e P mad i, S TR W 2 qun S waTs e F STYR F
a1 e < fEafd ° 2 sven sl Aifd % omar i s A % 39gE 9 8 | A % g
AFTEHA | =A™ I A = FEE °§ 7% 6 giEw 26 2| TSl ot ° fava F e v 4 == #
ey 4 forgs ae erEs A 3= g 99§ o= % R ahy fam i o s g difew eaR
e FE w1 T R 2

= % fowm o veeedm e e 27
(1) == % = {93 2
(2) 4 F=IE % gH H gYiad ®9 Y SEHET ITH T E
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[Question ID = 2725][Question Description = Q47_GP_SET8_51_5Shift2]

N TR 5 Y

. 1 [Option ID = 1089%7]
. 2 [Option ID = 10898]
. 3 [Option ID = 10899]
. 4 [Option ID = 10300]

Correct Answer :-
a 1 [Option ID = 10897]

Read the passage and answer question

The need for a theory of justice relates to the discipline of engagement in reasoning about a
subject on which 1t 1s as eminent author Burke noted, very difficult to speak. It 1s sometimes
claimed that justice i1s not a matter of reasoning at all; it is one of being appropriately
sensitive and having the right note for injustice. It is easy to be tempted to think along these
lines. When we find. for example. a raging femine,. it seems natural to protest rather than

reason elaborately about Justice and injustice. And yet a calamity would be a case of injustice
only if it could have been prevented, and particularly if those who could have undertaken

preventive action had failed to try. Reasoning in some form cannot but be involved in moving

from the observation of a tragedy to the diagnosis of injustice. Further more, cases of
njustice may be much more complex and subtle than the assessment of an observable
calamity. There could be different arguments suggesting disparate conclusions, and
evaluations of justice may be anything but straight forward. The avoidance of reasoned
justification often comes not from indignant protestors but from placid guardians of order
and justice. Reticience has appealed throughout history to those with a governing role,
endowed with public authority, who are unsure of the grounds for action, or unwilling to
scrutinize the basis of their policies. The requirements of a theory of justice include bringing

reason Into play in the diagnosis of justice and imjustice. Over hundreds of years, writers on
justice in different parts of the world have attempted to provide the intellectual basis for

moving from a general sense of injustice to particular reasoned diagnosis of injustice.

In the case of a calamity. it should lead to a feeling of injustice when

(1) It 1s left unobserved

(2) It affects vulnerable people

(3) Concerned authorities did not make an attempt to prevent it
(4) Concerned authorities did not know how to prevent it

= % fogia i stavasEar 1 Tey fEl U8 59 % 91 § a6 F AR w6 B U a5 A 3
o T o a6 S0 forema ores A W $@ e wga St sarn 2| Ft-wft a3 g@n Fen s 2
=11 i @k = a7 fsega =81 war o whar; 97 5948 ¥ v 8 T swea gden % a-me s
wE T9F T | T8 T H WieE % T SRa 5 e 2 | 39 & o, W g i 2 B R i s
£ fufa § = aw s % an ¥ fRangds wR-faak B e s e e e 2
TITE S NS a1 TF AR B TEdl 2 A sEm famm e W w, oM e s w s M W W
o A Fraroners FE W gwd o, UH W 6 T H sEed © | Bed vy 0 o e ol 4d, wfew
Frdfl aad) % STadi®E 8§ F=™ % f9gF Al 0% 9ed B AT 2 | HH AfAlad, FA=E B Ay FadE
T TH AT SIEl T geAaA i go J Al Sl o gam B | T m-fim Tt & g T
T3S a% & TFd 3 31 =/ % geare 33 i @ Tear @ W @9 @Yy 9 % aehge giare
1 TRER 5¢ Fusaisn o 78, afeew s@awn g = % wiata St 8 2 a2 sfoem e 2 s
T A SE1 A W @ 7 - o e sedi gfiem, S TR T 2 U S PRAE B % TR 6
ax ¥ g < feafd 1 2 sven sl Aifd % omaR i S A % 39gE A9 8 | A % g
AFTEHA § =A™ I A % FgE ¥ 7 & 9w 2 2 | FFsi an | fava F e a4 == F
ey 1 forgs ae SEe® A 3= g 9 ¥ o 5 R ashg fam i ot s 2 difew eman
YaH S 1 9AE R 2 )
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(3)
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TeTad WTaETd sa= Harey =1 9=\ 76 i |
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[Question ID = 2726][Question Description = Q48_GP_SET8_51_5Shift2]
1. 1 [Option ID = 10%01]
2. 2 [Option ID = 10902]
3. 3 [Option ID = 10903]
4. 4 [Option ID = 10904]

Carrect Answer :-
& 1 [Option ID = 10901]

Read the passage and answer question

The need for a theory of justice relates to the discipline of engagement in reasoning about a
subject on which 1t 1s as eminent author Burke noted, very difficult to speak. It 1s sometimes
claimed that justice i1s not a matter of reasoning at all; it is one of being appropriately
sensitive and having the right note for injustice. It is easy to be tempted to think along these
lines. When we find. for example. a raging femine, it seems natural to protest rather than

reason elaborately about justice and injustice. And yet a calamity would be a case of injustice
only if it could have been prevented, and particularly if those who could have undertaken

preventive action had failed to try. Reasoning in some form cannot but be involved 1n moving

from the observation of a tragedy to the diagnosis of injustice. Further more, cases of
1njustice may be much more complex and subtle than the assessment of an observable
calamity. There could be different arguments suggesting disparate conclusions, and
evaluations of justice may be anything but straight forward. The avoidance of reasoned
justification often comes not from indignant protestors but from placid guardians of order
and justice. Reticience has appealed throughout history to those with a governing role,
endowed with public authority, who are unsure of the grounds for action, or unwilling to
scrutinize the basis of their policies. The requirements of a theory of justice include bringing

reason Into play in the diagnosis of justice and injustice. Over hundreds of years, writers on
justice in different parts of the world have attempted to provide the intellectual basis for

moving from a general sense of injustice to particular reasoned diagnosis of injustice.

Avoidance of reasoned justification can be sourced to

(1)
@)
3)
@)

Protectors seeking justice
People unaffected by policy - decisions
The public not interested in justice

Public authority

.

=1 % forgia i smaTaEar # ga el v fem % o § @ B SIIEE W w6 e U Teia 94 8 3
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Frdlt e & St B 3= % A f 0 T i amn 3| e sifafem, s % fav saeEa
3T H AT SEl T goAaA i go 4 AT Sl oI gam | Tm m-fim freest & g T
ST~ a% & TFd 3 3 =/ % gearr 33 i o uear @ W @Y @Y e e % aehge giare
1 RER 5¥ fRusaisn o 78, afee o@Een g = % wfata St 8 2 a2 | sfiem = 2 s
T A SE1 A W @ B - o Frem sedi gfiem, S TR T 2 U S PRAE B % TR 6
a1 e < feafd 1 2 sen sl Aifd % omaR i S A % 9gE A9 8 | A % fugea
AFTEHA § =A™ I FAE = FEE ¥ 7% & g 2 2| TSt ant § fava F e v 4 == F
ey ¥ forgs are erEes A 3= g Y ¥ = % R ahy fam i o se 2 difew R
S i o T R 2

prepp

Your Personal Exams Guide



www.prepp.in

FUl AT o SfaareA w1 9iER W W Ed gl 8

(1) =9 =meA are ferieseat

(2)  ifara FolEt @ wwfaa @

(3) =3 4 s T A arett s s
@)  wEEtE miewd

[Question ID = 2727][Question Description = Q49_GP_SET8_51_Shift2]
1. 1 [Optien ID = 10905]
2. 2 [Optien ID = 10906]
3. 3 [Optien ID = 10907]
4. 4 [Option ID = 10908]

Correct Answer -
e 1 [Option ID = 10905]

Read the passage and answer question

The need for a theory of justice relates to the discipline of engagement in reasoning about a
subject on which 1t 1s as eminent author Burke noted, very difficult to speak. It 1s sometimes
claimed that justice 1s not a matter of reasoning at all; it is one of being appropriately
sensitive and having the right note for injustice. It is easy to be tempted to think along these
lines. When we find. for example, a raging femine, it seems natural to protest rather than

reason elaborately about justice and injustice. And yet a calamity would be a case of injustice
only if it could have been prevented, and particularly if those who could have undertaken

preventive action had failed to try. Reasoning in some form cannot but be involved in moving

from the observation of a tragedy to the diagnosis of injustice. Further more, cases of
njustice may be much more complex and subtle than the assessment of an observable
calamity. There could be different arguments suggesting disparate conclusions, and
evaluations of justice may be anything but straight forward. The avoidance of reasoned
justification often comes not from indignant protestors but from placid guardians of order
and justice. Reticience has appealed throughout history to those with a governing role,
endowed with public authority, who are unsure of the grounds for action, or unwilling to
scrutinize the basis of their policies. The requirements of a theory of justice include bringing

reason Into play in the diagnosis of justice and injustice, Over hundreds of years, writers on
justice in different parts of the world have attempted to provide the intellectual basis for

moving from a general sense of injustice to particular reasoned diagnosis of injustice.

A particular diagnosis of injustice will lead to a theory of justice based on

(1) A general sense of the 1ssues
(2) Empirical analysis of injustice
(3) Intellectual evaluations

(4) Historical traditions

frefertiga TeAm i afeu 3t 999 % IO A

-

= % firgra #i saTEEa =1 ged i 08 e % i § 96 % STuee w w6 B ° geiya o 6 3
o Tawa o a0k S0 forema ore® A W $@ Fe wga St samn 2 ) wft-wft 13 q@n Fen s 2
=17 i ek = faug feerge =81 war o war; 97 598 @ v 8 T swea geen % a-my s
HE THF T | TH T W Wi % T SRa 5 STE 2 | 39 % oI, W g 9 2 R R o s
$i foufa § =g awr s= % ai A fRanyd® ah-faash w F s see e e @ 2)
TITE i TS a4 T 9E 2 Tl 2 A som famm e w, oM fem s w a M o W
o o Fremoners HR 9 Thd o, UE HE F oy 4 w8 | Ped w9 A ek 1w ol wd, wfew
fordt el & raeiE 4 3= % eE F a0E ggq 6 gen 2| o wfalge, s % e st
T T A SEl F goAaa i ga § AU Sl 3R gam ® | T m-fim Tt & g T
T3S a% & TFd 8 3 =/ % geare 3% i @ Tear 3 W @Y @Y 9 % aehge giare
#1 ER 5¢ fusaisn o =8, afee o@Een o = % wiata Tt @ 2 ua 2| sfiem = 2

prepp

Your Personal Exams Guide



www.prepp.in

T A Sl W @ 2 - o Femmr sedi yfiem, S TR T 2 U ST PRATE B % TR 6
ar F arfg=r <h feafa O 2 svEn sl ity o s i seER e % =g 98 2 | = %+ fuge

ATFIHA § = TN FAE F FgE § 7 6 g 26 2| ISt a9 ¥ e % i i 9 = *
ey ¥ forgd A oEel A T oI 7Y O IR %

e i ol T R 2

=9 % fa9Y Fem 8 = % s fagea w0 i g Sy

(D)
2

()
@

[Question ID = 2728][Question Description = Q50_GP_SET8_51_5Shift2]
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1. 1 [Option 1D = 10%0%]
2. 2 [Option ID = 10%10]
3. 3 [Option ID = 10%11]
4. 4 [Option ID = 10912]

Correct Answer :-
& 1 [Option ID = 1090%]
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